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UGC NET PAPER 2 NOVEMBER 29, 2021 SHIFT 1 HISTORY QUESTION PAPER

Topic:- GP_29NOV_A

1) Study the given table carefully and answer the questions that follow

Train iSource Destination DistanceiSpeed Fair per |Total [Reserved
Number{Station Station (km) |(km/h)} person(Rs) [Seats [Seats
1001 |A P 1200 [130 3000 680 400
1002 |B Q 1080 [160 3600 870 |550
1003 |C IR 1280 [155 2800 650 (350
1004 |D S 1250 [130 2900 980 |620
1005 F T 1180 [125 3200 780 |520

feu a1 Arefl @Y eamogdes ug HiiE QIR dFoY arel gsll @t I Sfeig ;

eni | It
BITEL R31Gs Sty e § fperen (giereafip =fpel  pretand
siw  fpRere  prerar  [(PAL/ (RRAL Gy ofie b
.} /51.)
1001 (A [P 1200 (130 3000 (680 400
1002 B IQ 1080 (160 3600 [B70 [550
1003 [C R 1280 (155 2800 [650 350
1004 D 5 1250 130 2900 (980 620
1005 [E T 1180 (125 3200 780 [520

Which train has minimum per km cost?

Row o & yfer Roalt. aerma =ean & 7

[Question ID = 201][Question Description = 52_qSNz_PG_GP26_0Q01]

1. 1001

[Option ID = 801]

2. 1003

[Option ID = 802]

3. 1004

[Option ID = 803]

4. 1005

[Option ID = 804]

Correct Answer ;-

« 1001

[Option ID = 801]

2) Study the given table carefully and answer the questions that follow

Train Eource Igestination DistanceiSpeed Fair per |[Total Reserved
Number(Station [Station (km) (km/h) |person(Rs) [Seats [Seats
1001 A P 1200 130 3000 680 400
1002 |B Q 1080 [160 3600 [8?0 550
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1003 |C iR 1280 [155 2800 650 (350
1004 |D S 1250 130 2900 980 620
1005 F T 1180 125 3200 780 (520

2w a1 Frevft o eemeyder ud sl AeRIEVT Tra ard gal o IR S1fe1T |

i et
SISL 2105 S G fooern (Ufocahs wfpa prlama
den e prermr [P/ (BRI il
.} /5.)
1001 (A [P 1200 (130 3000 (680 400
1002 B Q 1080 (160 3600 870 [550
1003 [C R 1280 (155 2800 [650 350
1004 D IS 1250 (130 2900 (280 620
1005 [E T 1180 (125 3200 780 [520

wWhich train will take maximum time to reach the destination?

ot - = Tar sice oo afaa | sffrraw wa aeesh 7

[Question ID = 202][Question Description = 52_qSNz_PG_GP26_Q02]

1. 1001

[Option ID = 805]

2. 1003

[Option ID = 806]

3. 1004

[Option ID = 807]

4. 1005

[Option ID = 808]

Correct Answer :-

a 1001

[Option ID = 805]

3) Study the given table carefully and answer the questions that follow

Train Eource Igestination Distance'Speed Fair per [Total Reserved
NMumberiStation Station (km) (km/h) |person(Rs) Seats [Seats
1001 (A P 1200 [130 3000 680 400
1002 |B Q 1080 [160 3600 870 |550
1003 |C IR 1280 [155 2800 650 (350
1004 |D S 1250 [130 2900 980 (620

1005 |E T 1180 [125 3200 780 |520

few s ARvil @t eaegds ud 3l AGRRYT e O geal o I S

et | e
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1001 |A P 1200 130 3000 680 400
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1002 B iQ 1080 [160 3600 iﬂ?(} i55(}
1003 [C R 1280 (155 2800 [650 |350
1004 D 15 1250 130 2900 (980 620
1005 [E T 1180 (125 3200 780 [520

Which train has minimum number of vacant seats?

fepm1 Tor & et et B syeran HAwm E 7

[Question ID = 203][Question Description = $2_qSNz_PG_GP26_Q03]
1. 1001

[Option ID = 809]
2. 1002

[Option ID = 810]
3. 1003

[Option ID = 811]
4, 1005

[Option ID = 812]
Carrect Answer :-
& 1001

[Option ID = 809]

4) Study the given table carefully and answer the guestions that follow

Train Ecurce Eestinat‘ian DistanceiSpeed Fair per |[Total Reserved
Number|Station [Station (km) (km/h) |person(Rs) |Seats [Seats
1001 A P 1200 130 3000 680 400

1002 |B Q 1080 |160 3600 870 550
1003 |C IR 1280 |155 2800 650 (350
1004 |D S 1250 |[130 2900 980 620
1005 F T 1180 [125 3200 780 (520

e are aeoll @ eavergeRs a§ i ASAIT WA A ges W 3 S

o8] 50
S| I TRl fseran (g wver poeiadm
shwem  peere  [reersr (oAl (IBaL by S
i) /8.
1001 (A [P 1200 [130 3000 [680 |400
1002 B Q 1080 [160 3600 870 [|550
1003 [C R 1280 (155 2800 650 [350
1004 D IS 1250 130 2900 [980 |620
1005% [E T 1180 [125 3200 780 [520

What is the average of the number of vacant seats for all trains?

9t 2511 & mwchl i o i T & ?

[Question ID = 204][Question Description = 52_qg5Nz_PG_GP26_Q04]
1. 302
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[Option ID = 813]
2. 304

[Option ID = 814]
3. 306

[Option ID = 815]
4, 308
[Opticn ID = 816]
Correct Answer :-
e 302
[Option 1D = 813]

%) Study the given table carefully and answer the questions that follow

Train iSource Destination DistanceiSpeed Fair per |Total [Reserved
NumberStation [Station (km) (km/h) |person(Rs) Seats [Seats
1001 |A P 1200 [130 3000 680 400
1002 |B Q 1080 [160 3600 870 |550
1003 |C IR 1280 [155 2800 650 (350
1004 |D S 1250 [130 2900 980 |620
1005 F T 1180 [125 3200 780 |520

few a1y Arefl @Y eamogdes a§ HiiT QIR @FoY arct gasll @t e Sferg ;

21 | G|
BITEL 23155 nty e § (gffreafes el faretara
v e [Rerr (AL (Ko o it
.} /51.)
1001 A [P 1200 (130 3000 (680 400
1002 B IQ 1080 (160 3600 [B70 [550
1003 |[C R 1280 (155 2800 [650 |350
1004 D 5 1250 130 2900 (980 620
1005 [E T 1180 125 3200 780 [520
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What is the time difference between the train which takes the maximum duration and the train which takes the minimum

duration?

MFBas IR Teloiarct &ol 3iF wIoiid I Cloliol Aol $ol @ did J3 - 3ivera foeer & ?

[Question ID = 205][Question Description = §2_qg5Nz_PG_GP26_Q05]

1. 2.78

[Option ID = 817]
2. 2.64

[Option ID = 818]
3. 2.86

[Option ID = 819]
4, 2.68

[Option ID = 820]
Correct Answer :-
« 278

[Option ID = 817]

Topic:- GP_29NOV_B
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1) The name of the MOOC platform developed by IT Kanpur is

rs ams € ooy g el #p s (Wiewnl) o & 8 -

[Question ID = 206][Question Description = §2_qS5Nz_PG_GP26_Q06]
SWAYAM/ =z [Option 1D = 821]

Causera/mREn [Option ID = 822]

mooKIT/3fre (MOOKIT) [Option ID = 823]

MOOCK /s [Option 1D = 824]

L P

Correct Answer :-
e SWAYAM/=mi [Option ID = 821]

2) In the role of a test constructor, how should a teacher proceed?
A, Prepare test items that match the instructional objectives

B. List the major course or unit objectives

C. Prepare a table of specifications

D, Specify the course or unit content

E. Discard unrealistic objectives

Choose the correct answer from the options given below

wars gdtaror forfan o5t afror &, v s Rew gep1e sl agen ?

A. aflgror St (suscan) ol Hene wvon Sl AGSoncwas oAl A die A &l

B. @& argerpa sern sord 389wl o el "enen

C. Rridreonsii &t wreoft Sue wen

D. arprags e st sindeg o1 Ridha saitr San

E. srarrafies 3394l @l ser o

ol u a1e Rrpodl d 31 718t 3w w1 ags &l

[Question ID = 207][Question Description = 52_qSNz_PG_GP26_Q07]

, B, C, D, E [Option ID = 825]

A, B, C,D
B, E, D, C, A [Option ID = 826]
C, A, E, D, B [Option ID = 827]
D, B, E, C

. B, E, C, A [Option ID = 828]

fa e 2=

Carrect Answer :-
s A B, C, D, E[Option ID = 825]

3) Given below are two statements
Statement I: The brain continues to develop throughout childhood and adolescence.
Statement II: The logical and goal-directed actions begin in the sensorimotor period.

In light of the above statements, choose the most appropriate answer from the options given below

oifl ol e Ru s 3 ¢

werd - | 1 aaus v Rreliaasen @& dhem alass o ko &ar 3o 3

wad - || : mRio iz aga - fiffs Rmri & e #38 O (3 Alc?) smaf?n 4 arft 3
IRl Dl @ il #, ol o o1e Repedl 3 3 Aa3 TR 302 ©1 w@a Hifse ¢
[Question ID = 208][Question Description = 52_qSNz_PG_GP26_Q08]

1. Both Statement | and Statement [l are correct/wem | iz |l giei =22t £ [Option ID = 829]

2. Both Statement | and Statement [l are incorrect/wem | 3 || St arwr & [Option D = 830]

3. Statement | is correct but Statement Il is incorrect/wes | adt 2, fiseg waa |l aicm & [Option 1D = 831]
4. Statement | is incorrect but Statement [l is correct/mram | smm &, fieeg e |l 38 2 [Option 1D = 832)

Correct Answer :-
# Both Statement | and Statement [l are correct /s | @iz || 3wl 32 € [Option 1D = 829]

4) An undergraduate degree with Honors in a discipline may be awarded if a student completes
A. 14 core papers in that discipline

B. 2 Ability Enhancement Compulsory Courses
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C. 2 Research paper published in any UGC CARE listed journal

D. Minimum 2 Skill Enhancement courses

E. 4 papers each from a list of discipline specific elective and generic elective papers

Choose the correct answer from the options given below:

fepeit farrar 3 amerd & wTer T T ygra 6 a1 Aol 2 afE oo Renelf gur cr oam E
A, 3a i # 14 groT e

B. 2 =i dAatla @ aforart argra

C. 3,503, @ sirwia eliag fseft sofer 3F ymifdrT 2 eterueg

D. ogoktd 2 wlorel Hatlel argargi

E. faforee dwius stz annea (Seifys) dofus fagedl 6 7 # 3 9o faua & e agg
ol 16 s1e faapeal 3 2 Hl Fre o wr’Iol Hife

[Question ID = 209][Question Description = $2_qSNz_PG_GP26_Q09]

A, B, C and D only/@ua A, B, C sz D [Option ID = 833]
A, B, D and E only/mer A, B, D 4z E [Option ID = 834]
B, C, D and E only/@¥w B, C, D diz E [Option ID = 835]
A, C, Dand E only/dvaa A, C, D =z E [Option ID = 836]

NPT

Correct Answer ;-
e A, B, CandDonly/@wa A, B, C diz D [Option ID = 833]

5) Match List | with List lI

List | IList I

Govternment of India Projects |Purpuse

A. Shodhganga

‘I. Expert database + Researcher network

B. SWAYAM PRABHA

|II. Thesis database

C. Vidwan

lll. Online content delivery platform

D. SAKSHAT

]IV. DTH educational channel

Choose the correct answer from the options given below:

it -1 B 3t -1l @ AR iR

et -| et -l
{smza wFmz afEsend) [(3Zea)

A. oitemiom Il Rrdvrs s + oiteneff deads

B. amivsn 1. eitergeier sre=

C. fagma 1. srerenzor aterdg Fagsht 3 (wewnl)
D. g IV. $t @ v gifdre Soter

i 2w s1e faescal & 31 #1él 3z gfore :
[Question ID = 210][Question Description = 52_qSNz_PG_GP26_0Q10]

1. A-1l, B- ¥, C-1, D- Il [Option ID = 837]
2. A-I¥,B-1,C-lll, D -l [Option ID = 838]
3. A-1,B-1Il,C-1l, D- IV [Option ID = 839]
4. A-NLB-1U, C-1¥, D-1[Option ID = 840]
Carrect Answer :-

o A-I,B-I¥,C-1,D-Il[Option ID = 837]

6) The exercise of reviewing the relevant literature is most closely related for which one of the following?

grtaes mifara weflen @vvor @1 ©Rf hrafaliaa # 31 fooad maiftes foweasr a0 21 Jdfteg 8 7

[Question ID = 211][Question Description = $2_qSNz_PG_GP26_Q11]
Formulating research problems/ it sem=nsi wit Biidf ween [Option 1D = §41)

In drawing a sample for the study/ae=rr &5 fong siggon smemer 3 [Option 1D = 842]
For analyzing gquantitative data/srgrae o o1 Rsdau =34 & g [Option 1D = 843]
Generalization of the finding/ gt @ amssn [Option 1D = 844]

L P —

Correct Answer :-
& Formulating research problems/ ol sone=nal @1 B e [Option 1D = 841]

7) Which among the following is an example of descriptive statistic?

prepp
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frraferfiam 5 71 wior avienere Az o oo TEIw § 7

[Question ID = 212][Question Description = 52_qSNz_PG_GP26_0Q12]
1. Chi-square/di - 3= [Option ID = 845]

2. Regression/gffeme [Option 1D = 846)

3. Standard deviation/amorr e [Option (D = 847]

4, t-statistic/dI - miffzrbt [Option ID = 848]

Correct Answer :-
& Chi-square/dt - FmEm [Option 1D = 845]

8) Which among the following are the source of threat to external validity?
A. Sample characteristics

B. Novelty/uniqueness of stimulus

C. Improper manipulation of L.V.

D. Lack of motivation on the part of the participants

E. Reactivity of the assessments

Choose the correct answer from the options given below:

forgmteian A 31 ol ara der & Sifdas @& Pa & ?

A. gfrcof fadvemms

B. 3Eiuet @1 el / af gl

C. anf, &), @1 wFHeIa FS - A4S

D. zaneh & alz 3 afinzo & it

E. Jcaiod &I glafgameadar

ol 16 s1e faapeal 3 2 Hl Fre o wr’Iol Hife

[Question ID = 213][Question Description = $2_qSNz_PG_GP26_Q13]

A, B and D only/da@a A, B sfiz D [Option D = 849]
B, D and E only/w=a B, D 4z E [Option D = 850]
C, D and E only/®=@= C, D &z E [Option ID = 851]
A, B and E only/@@a A, B sfiz E [Option 1D = 852]

o bl R

Correct Answer :-
e A, B and D only/@am A, B afiz D [Option [D = 849]

9) Given below are two statements
Statement I: Sample sizes for qualitative research vary by technique but are generally small.
Statement Il: Qualitative research involves non-probability sampling.

In light of the above statements, choose the correct answer from the options given below

il <1 eI R sy 3

erel - | 1 SPIeAS oltel & fére yfereel a1z el Zier fioar 8k 2 difdpol AITATe U 2 o] 2
@erel - 1| s eiter 31 - Faeran gl oo enfirer @ 2

IRivh Skl & e 3, oA 2w s faasedl I 2 718t I &1 o Hifo ;@

[Question ID = 214][Question Description = $2_qSNz_PG_GP26_Q14]

Both Statement | and Statement || are true/orem | iz | 2@t 7 € [Option (D = 853]

Both Statement | and Statement |l are false/@emr | 3z || S s € [Option (D = 854
Statement | is true but Statement Il is false/@ewt | 3 8, Prog wua || s & [Option 1D = 855]
Statement | is false but Statement Il is true/mem | s 2, foeg wem || = £ [Option 1D = 856]

B L P

Correct Answer ;-
e Both Statement | and Statement |l are true /s | 3z || St = £ [Option 1D = 853]

10) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Student's t-statistic is a robust statistic.

Reason R: Student's t-statistic can yield accurate analysis of data, even if some of the assumptions of parametric statistics
are violated.

In light of the above statements, choose the correct answer from the options given below
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ol ot et 8w a0 & @ wep afswperar (Assertion A) @ wu # iz g1 3@ orw (Reason R) & wa & @
sifirpert (A) : ReEndt w1 & - sificrbl var g wificrbt

oo (R) : Renel w1 & - wifierb grafenr ailerbt @ galaumel @ scoae e ster uz st a0 a1 3¢ Rrcue @ /oo &

IRRG WG] B ARD d, sk By oodl # 3 38t 303 o1 = S
[Question ID = 215][Question Description = §2_q5Nz_PG_GP26_Q15]

Ais true but R is false/(A) s 2, we=y (R) swer £ [Option ID = 859]
A is false but R is true/ (A} o= &, uieg (R) a=x £ [Option 1D = 860]

b B —

Carrect Answer :-

& Both A and R are true and R is the correct explanation of A/(A) 3fiz (R) Sl 3y & iz (R), (A) & =8t -aen £ [Option 1D = 857]

11) In communication, a shrug of shoulders indicates

HAqaur #, well @ Janel IS B -

[Question ID = 216][Question Description = 52_qSNz_PG_GP26_Q16]
1. Responsibility/smeerera [Option 1D = 861]

2. Honesty/<mmcrt [Option ID = 862]

3. Interest/=fr [Option 1D = 863]

4. Indifference/semiterm [Option 1D = 864]

Correct Answer ;-
e Responsibility/smeiEra [Option 1D = 861]

12) Which one of the following is a strategy to overcome communication barriers?

forraifertiae 3 21 Siel AT F1em3il Y g7 Dol Dl v Foriifer 3 ?

[Question ID = 217][Question Description = $2_qSNz_PG_GP26_Q17]
Setting of ground rules/snaf¥s ol =1 o =53an [Option 1D = 865]
Aggression/anggor [Option ID = 866)

Advance technology provision/swaa aooitnt grena [Option 1D = 867]

Use of jargon/gmsmme w1 3wt [Option 1D = B&E]

R

Correct Answer :-
& Setting of ground rules/smenfes Bl o o w%on [Option (D = 365]

13) The communication between two persons through letters is an instance of:

gl @ sueaw 3 g wafvral @ 9 Agaer Rewa soswr 8 7

[Question ID = 218][Question Description = 52_qSNz_PG_GP26_0Q18]
Intrapersonal verbal communication/ sevt: Ty anffes ammr [Option 1D = 569]
Intrapersonal nonverbal communication/ s Saftra aenfEer sk [Option 1D = 870]
Interpersonal verbal communication/srr - deifrar snfder wigmon [Option 1D = 871]
Interpersonal nonverbal communication/sias - Suftes arenfsees g [Option 1D = 872)

b B —

Correct Answer :-
& [ntrapersonal verbal communication/ s daivees sifes FHjmor [Option D = 869]

14) Which one of the following is an example of form of New Media?

foraifeifiad 3 3 Wlel wp o1 o1 & Al @1 oo wwv 3 7

[Question ID = 219][Question Description = 52_qSNz_PG_GP26_0Q19]
Newspapers/ smm@RE i [Option |1D = 873]

TV /&t it [Option ID = 874]

Radio/3f=it [Option ID = 875]

Instagram/seep= [Option D = 876]

R

Correct Answer ;-
e Newspapers/smirarz wg [Option 1D = 873]

15) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Both A and R are true and R is the correct explanation of A/(A) 3z (R) 2=t awe & 4z (R), (A) & aft mmeen £ [Option ID = 857]
Both A and R are true but R is NOT the correct explanation of A/(A) sz (R) Sielt 2w 2 g3y (R), (A) o =2t semeem st £ [Option ID = 858]

prepp
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Assertion A: In classroom communication, Socratic questioning is one of the effective strategies to promote understanding.

Reason R: Feedback through student evaluation of teachers enhances the quality of classroom communication.

In light of the above statements, choose the correct answer from the options given below
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i <) el Ru s & ;. wes aifdrsee (Assertion A) @ wu 3 3z g 331 @reor (Reason R) S =a 3 ©
afireserer (A) © et FgEUT #, Jgoordl gra - At s o agrer &1 guirdt ToreliferEl 3 3 v &

@11 (R) : Risiot & geaicer & RenRil o aneemn A gfigRe oe Aduor Bt spuraar S agr 202
IUNh Bl D el K, offy 6u famedt #f 31 T 3az o a6l Hife ;

[Question ID = 220][Question Description = $2_qSNz_PG_GP26_Q20]

Both A and R are true and R is the correct explanation of A/{A) 3fiz (R) giat o € &tz (R), (A) & st == & [Option ID = 877]

Both A and R are true but R is NOT the correct explanation of Af(A) stz (R) 3ol 37a & ey (R), (A) @1 ardl === adt € [Option ID = 878]
A is true but R is false/{A) wra &, weg (R) smm € [Option ID = 879]

A is false but R is true/{A) s 2, weag (R) aw=r & [Option ID = 880]

I FY T S Qs

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) afiz (R) gl = & diw (R), (A) &t 22t s=n & [Option ID = 877]

16) Given below are two statements
Statement I: At 8.55% rate of simple interest, a certain sum will be doubled in 12 years,
Statement II: In 3 years ¥1000 will become ¥1331 at compound interest rate of 10% per annum,

In light of the above statements, choose the correct answer from the options given below

il ) wear Re s 3 ;

averat - | aiemvor wirs @ 8.55% 9t g7 A, ve By #fdr 12 adf 9 Soph & sooesht
aserat - |l & gfrerd 10% 6t ety warm @5t g3 1 1000 . dtor aaf 31 1331 % &1 smosn
Rl wuell @ aers #, oA R oo Rroseal 3 91 718 sae o o=rar $ife
[Question ID = 221][Question Description = 52_qSNz_PG_GP26_0Q21]

Both Statement | and Statement Il are true/=seme | iz | dreil a0 & [Option (D = 881]

Both Statement | and Statement |l are false/@em | 3z || S5 s € [Option (D = 882]
Statement | is true but Statement Il is false/@ewt | 77 &, Prog wua || s & [Option 1D = 883]
Statement | is false but Statement Il is true/we | sera 8, foog et || aica 2 [Option |D = 884]

I YR 6

Correct Answer :-
e Both Statement | and Statement || are true/wem | 3= || S 3= £ [Option 1D = 881]

17) Which of the following statements are correct?

A. The sum of three consecutive multiples of 3 is 72, The largest number is 27,
B. A number when multiplied by 13 is increased by 180, The number is 13,

C. The average of first 20 multiples of 7 is 73,5,

Choose the correct answer from the options given below:

fBrrafeoa wasi gz Rar o -

A. 3 & titer aymera saacd w1 a1 72 § T aft dSwen 27 3

B. v wiwn & 13 & spom wear 180 &5t gfy & et 8 e 13 3

C. 7 & gaa 20 & sraard o1 siwa 73.5 8

I Wyt # A wia aft B ?

[Question ID = 222][Question Description = 52_qSNz_PG_GP26_0Q22]

1. A and B only/@as A 3fiz B [Option ID = 885]
2. Band C only/@ae B 4iz C [Option ID = 886]
3. Aand C only/@ae A 4z C [Option ID = 887]
4

18) When a sum of money was distributed to 12 boys instead of 16 boys, each boy got ¥40 more, What was the sum?
S|a U 6t uas A% B 16 TSl & gAr 12 asat # gier srn dl, yeds asal 40 &, aftre urn ag afdn o= oft ?

[Question ID = 223][Question Description = $2_qSNz_PG_GP26_Q23]
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[ 1. 1290

[Option ID = 889
2. 1920

[Option ID = 890]
3. 480

[Option ID = 891]
4, 840

[Option ID = 892]
Carrect Answer :-
& 1290

[Option ID = 889

19) The ages of Lokendra and Dharmendra are in the ratio 6:5 and the sum of their ages is 44 vears. What will be the ratio
of their ages after 4 years?

elrdsog, Az erife &l g 3 6:5 o1 T 2 aliz Jordt AR o1 2A1eT 44 adf 2 4 ad " Jorb! 331 Wl Ul a2 Pl ?

[Question ID = 224][Question Description = $2_qSNz_PG_GP26_Q24]
1. 8:7

[Option ID = 893]
2. 7:8

[Option ID = 894]
3. 7:6

[Option ID = 895]
4, 97

[Option ID = 896]
Carrect Answer :-
* 27

[Option ID = 893]

20) In the series 9, 18, 36, --- what will be 12t term?
9,18, 36t goitdi ___ 12 @i ug w=m dism 7

[Question ID = 225][Question Description = 52_q5Nz_PG_GP26_Q25]
1. 18556

[Option ID = 897]
2. 18652

[Option ID = 898]
3. 18232

[Option ID = 899]
4, 18432
[Opticn ID = 900]
Correct Answer :-
& 135564
[Option ID = 897

21) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Denotation cannot be used to define words that have an empty extension
Reason R: Although connotation determines denotation, denotation does not determine connotation

In light of the above statements, choose the most appropriate answer from the options given below

ol ot et Bw a0 & @ wep afswperar (Assertion A) @ wu # iz g1 33 orw (Reason R) S wa & &
sificperst (A) : FE=med w1 FrEieT 33 grscl w1 ulsiiReT wea 3 5idl Ro=n s swpan sit fp fwr - Risamact &
vl (R) @ w=iit Figveret gearet @i Rt oo &, Azsard sigeerd o Hitior ol @

RIS WUl & ke #, ol By froedl # 3 318 30 @1 e Gif ¢

[Question ID = 226][Question Description = 52_qSNz_PG_GP26_0Q26]



www.prepp.in .repp

Your Personal Exams Guide

Both A and R are correct and R is the correct explanation of A/{A) dfiz (R) St == 2 #fiz (R), (A) & &t sz & [Option ID = 301]

Both A and R are correct but R is NOT the correct explanation of A/{A) 3z (R) 3=t 318 & uieg (R), (A) &5 5& sy =l 2 [Option ID = 902]
A is correct but R is not correct/{A) zigt & uzeg (R) 2edt =it € [Option ID = 903]

A is not correct but R is correct/{A) zigt =0t € womgg (R) =it € [Option ID = 904]

fa L P2 —

Correct Answer :-
# Both A and R are correct and R is the correct explanation of A/{A) 3fiz (R) 351 =8 & afiz (R), (A) &t = =ow=n & [Option 1D = 901]

22) Identify the fallacy committed in the argument
All cats are animals,
All dogs are animals.

Therefore, all dogs are cats.

T o arra # wia =@ F ?

it fxfeeraif sroras 8

Fisft opTr ororas B

[Question ID = 227][Question Description = 52_q5Nz_PG_GP26_Q27]

Fallacy of Four Terms/arz ugi aren 2w [Option 1D = 905]

Fallacy of the Undistributed Middle Term/afaaid A o3 aren 3w [Option (1D = 906]
Fallacy of the Exclusive Premises/Rifsree amnzaml aen g [Option (D = 907]
Existential Fallacy/af¥aragza 3w [Option 1D = 908]

I

Correct Answer :-
# Fallacy of Four Terms/az ugi awen g [Option ID = 05]

23) Identify the fallacy committed in the following argument:
"American Indians are disappearing.
That man is an American Indian,

Therefore, that man is disappearing.

foreateiliaa aaiara # §a @) usalem ©
" adtheeisl s focndt 2t 32 8; o5 calis wp spifsbt anddi 8; swfie o <k fardt st se1 8
[Question ID = 228][Question Description = 52_qSNz_PG_GP26_Q28]

Fallacy of Compasition/ssET - sra [Option ID = 309]

Fallacy of Division/fasies - gt [Option 1D = 910]

Fallacy of Accident/=arfer - g [Option ID = 911]

Fallacy of Converse Accident/3mfd - &a=ra - gm [Option 1D = 912]

Lt P —

Caorrect Answer ;-

# Fallacy of Composition/zigit - g [Option ID = 909]

24) The condition that there should be an absence of contradiction in the relation of the objects denoted in the
combination of words, for the sentence to be significant is Known as which one of the following?

arra & Hele glel © [ Ul ond forerdt oreel & goa d foildee aeagail @ Fida 3 Rgemra o1 soia 31, oreifcaa foser a & @ren smar 2 7

[Question ID = 229][Question Description = §2_qS5Nz_PG_GP26_Q29]
Akarksa/amestsn [Option 1D = 913]

Yogyata/=wam [Option 1D = 914]

Sannidhi/afésiEr [Option D = 915]

Tatparya/arwt [Option 1D = 916]

L P —

Correct Answer :-
e Akarksa/awoien [Option 1D = $13]

25) Given below are two statements
Statement I: A vyapti between two terms of equal extension is called Samavyapti.
Statement |l: The relation between fire and smoke is that of Samavyapti.

In light of the above statements, choose the correct answer from the options given below

ohia) ) weot Ru s 3 :
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averst - | @ waer Rvar @ 9 aol @ da sl ai senfl oar s 3

averor - |l @ aimet 3w o @ di Hdey dAcenddy 3

IRITe el @ el A, ik 6w oo Ripedl 3 A 318 3 ©1 o=@ $ifams @
[Question ID = 230][Question Description = 52_qSNz_PG_GP26_0Q30]

Both Statement | and Statement Il are true/=seme | iz | &l =g & [Option (D = 917]

Both Statement | and Statement [l are false/memr | i3 || Sl ameg & [Option D = 918]
Statement | is true but Statement Il is false/=em | 37w &, e om || amra & [Option 1D = 919]
Statement | is false but Statement Il is true/wee | s 8, foeg @emt || aica & [Option 1D = 920]

a2 —

Correct Answer :-
# Both Statement | and Statement Il are true/orem | &z || 3@t @ & [Option (D = 917]

26) The World Wide Web (www) is

acd ares 39 (sory sory secy) B¢

[Question ID = 231][Question Description = 52_qSNz_PG_GP26_0Q31]

1. A massive network of networks which are made up of various computers/acamt o1 v sftiffiens Sewr 3 By sPiw swrpd Awen zaw £ [Option 1D = 921]
2. The Internet makes use of TCP/IP protocol/soete & =it dt / amd dt qidksio o swier wen & [Option 1D = 922)

3. A company which allows a user to connect to the Internet /=it 5t geivmt @t 50wl A 550 &t ssrart S & [Option ID = 923]

4, A collection of multimedia web pages and other dacuments which are stored on websites/slitEn du 9= e awT o2 sooEEl o1 TE = B Jaese

wEify (s) fey Ry & [Qption (D = 924]
Correct Answer :-
* A massive network of networks which are made up of various computers/aam! o v afodtencs degs 5 i e oo J gon gar £ [Option D = 921]

27) Hypertext Transfer Protocol (HTTP) is

FRU O giAb giciaid (vadéd) & :

[Question ID = 232][Question Description = 52_qg5Nz_PG_GP26_Q32]

Transfering file from one computer to another/vs mwgrz 3 2R 91 BEa © F4RiET @3 [Option 1D = 925]

A text-based protocol used when sending emails/ <8 dient TPm Sase anemiyT GiEkoe © 3w wxa & [Option 1D = 926]
Protocol used to find an P address/am. it vz gm et # geksio o aw= o & [Option 1D = 927

Fetching an HTML document from a web server/ow dasris 3 v ¢ w1 oo owmda o erpwerar [Option 1D = 928]

R

Correct Answer ;-
e Transfering file from one computer to another/vw T & g3 3 wea o FemewR wea [Option 1D = 925]

28) Given below are two statements regarding phishing.
Statement I: It is a program code that can replicate itself with the intention of deleting files.
Statement Il: It can be filtered but at the Internet Service Provider’'s (ISP} level.

In light of the above statements, choose the correct answer from the options given below

fisi3ior @ Fider A M QY Pam Ru ame & ¢

ool - | 1 I8 v QoA ©I1s 2 F GBIl @ aciel & 3299 H Ul sgrmia danz @ Fomar 8
el - | ; 21E devore Aar ygrar & ¥z T fisees foar o waean 2

IWRb el @ Alchd 3, ofla 2u s fameal 3 2t 7t Fz o aaw $ifas @

[Question ID = 233][Question Description = $2_qSNz_PG_GP26_Q33]

Both Statement | and Statement || are true/orem | iz | 2@t 7 € [Option (D = 929]

Both Statement | and Statement |l are false/mem | 3z || S seem € [Option (D = 930]
Statement | is true but Statement Il is false/@eet | 2 &, Prog wua | s & [Option 1D = 931]
Statement | is false but Statement Il is true/mem | s 2, foeg wem || s £ [Option 1D = 932]

T s

Correct Answer :-
& Both Statement | and Statement |l are true /s | 3= || S = £ [Option 1D = 929]

29) Which of the following statements regarding Intranets are correct?
A. The Intranet can be accessed from anywhere by anyone

B. The Intranet has public access

C. They are more secure than internet

D. In Intranet, it is possible to control external links

Choose the correct answer from the options given below:
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$edic @ wwer J Broffina woaa RA =13 8, wdt were o) 9ot ¢
A. FoIotic @ ey Beel & e wd A >0 Ao s aeoen 3

B. gt¥olc wr Ardsitns sorier star §
C. A $cvare O amden siftre gefda §

D. sceore #, aw widedal (Ries) o Breife weon wwa 3
ol v s1e Rraseal 3 A @8 3o o1 aua G :
[Question ID = 234][Question Description = 52_qSNz_PG_GP26_0Q34]

1. A, Band C only/sam A, B sfiz C [Option ID = 933]
2. Cand D only/ame C 3fiz D [Option (D = 934]
3. A, Cand D onlyfaaa A, C &tz D [Optien 1D = 935]

4. B and C only/@aw B stz C [Option 1D = 936]

Correct Answer :-
o A BandC onlyfa@am A, B afiz C [Option D = 933]

prepp
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30) Match List | with List [l

List | List I

Name of Memory Size|l-|umber of bits
A. MB (Megabyte) |. 2%

B. GB (Gigabyte)  |[lI, 250

C. TB (Terabyte) n. 22

D. PB (Petabyte) v, 2490

Choose the correct answer from the options given below:

2 -1 B 3t -1l 2 gRfea Bifw

et -| et - 11
A. o dt (derEmET) |. 230

B. st &t (*H=mrarse) I, 23¢
C. &1 &t Rararse) I, 220
D. dt 4t (demardc) ly. 240

ofr o a1 famsedl @ 21 w1l saz giene ¢

[Question ID = 235][Question Description = $2_qSNz_PG_GP26_Q35]

1. A-1I,B-1I, C-1, D- IV [Option ID = 937]
2. A-NI,B-1,C-1IV,D -l [Option ID = 938]
3. A-N,B-1I,C-1, D- IV [Option ID = 939]
4, A-1,B-1,C-1N, D- IV [Option ID = 940)

Correct Answer :-
o A-J,B-Ill,C-1, D-IV[Option ID = 337]

31) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: The in-situ passive soil remediation process is the easiest to implement and the least expensive

Reason R: It relies upon several natural processes to destroy the contaminants

In light of the above statements, choose the most appropriate answer from the options given below

oflY 31 e 2w s | wop arfdroera (Assertion A) @ s 3 iz gz sas orwr (Reason R) @ wa # ;
firperm (A) @ 74 - rerms [itaga o1 Sume Yihen &l UGl I ARG AT FE BH Fedlar &

@o1vl (R) : a1 AAfiaguil 1 Aan o &l fafica yrelere g uz foniz 2

IURITE el o AE #, sl By famedl 3 21 w18 sar o1 oa« Hifsw |

[Question ID = 236][Question Description = 52_qg5Nz_PG_GP26_Q36]

Both A and R are correct and R is the correct explanation of A/(A) sz (R) Steil == & siiz (R), (A) &t = =me=n 2 [Option ID = 941]

Both A and R are correct but R is MOT the correct explanation of A/ (4) diz (R) Stal 78 2 weag (R), (A) O =&t e st € [Option 1D = 942)
Ais correct but R is not correct/(A) =t & g (R) =t ==t £ [Option ID = 943]

A is not correct but R is correct/(A) =t o & womrg (R) =2t £ [Option ID = 944]

RN S PE S 1 s

Correct Answer :-

& Both A and R are carrect and R is the correct explanation of A/(A) iz (R) St =8t £ iz (R), (A) & 38 moz=n £ [Option 1D = 941]
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32) Dewatering of sewage sludge can be achieved by
A. Gravity thickening

B. Mechanical stirring

C. Osmosis

D. Floatation

E. Screening

Choose the correct answer from the options given below:

el - el & Hlas &I Y:lo) Bl BRI fpad Fr e s wwar 8 7

A, srsra fémaon

B. aifes Rcss

C. gIrzmm

D. wrgo

E. s (Famikie)

oller 1w s1e faapetl 3 2 Hl Fre o wRIal Hife

[Question ID = 237][Question Description = $2_qSNz_PG_GP26_Q37]

A, B and D only/da@a A, B stz D [Option (D = 945]
B, C and E only/&aa B, C afiz E [Option D = 946]
A, Cand D only/dae A, C afiz D [Option ID = 947]
C, D and E anly/==@= C, D &z E [Option ID = 948]

I TR Sy

Correct Answer :-
e A, B and D only/@am A, B iz D [Option [D = 945]

33) Match List | with List [l

List | IList I

Acts Year of Inception
A. Water Prevention and Control Actll. 1986

B. Air Prevention and Control Act |II. 1974

C. Environment Protection Act . 1987

D. The Factories Amendment Act |IV. 1981

Choose the correct answer from the options given below:

it -1 B 3t -1l @ AR iR

axedt - | apedt -1l
{sifériorera) (s w1 o)
A, STa foraraor aits foriqor affform 1, 1986

B. ary rarv afiz Briger iR II. 1974

C. uatazer FHzgor aftifora 1, 1987
D. Bacil donua attferaa IV, 1981

oitdr e o1 frwseal & 7 =8t saw gfew
[Question ID = 238][Question Description = 52_qSNz_PG_GP26_0Q38]

1. A-1l, B -1V, C-ll, D-1[Option ID = 949]
2. A-1l,B-1IV, C-1,D- Il [Option ID = 950]
3. A-IV,B-1Il,C-1,D- Il [Option ID = 951]
4, A-Ul,B-1,C-N,D- IV [Option ID = 952]
Correct Answer ;-
o A-IL,B-1I¥, C-1ll, D-I[Option ID = 949]

34) Which one of the following isotopes of Uranium is fissile material and can be used for nuclear reactions?

forsaterfan 3 31 wlor A1 wor eforma an snsAIdg Raisa ogref & afiv anfirdbler afddrn o Rre gepve Rsen so Jwar 8 :

[Question ID = 239][Question Description = 52_qSNz_PG_GP26_0Q39]
U-234/U-234 [Option ID = 953]
U-235/U-235 [Option ID = 954]
U-236/U-236 [Option ID = §55]

e B —
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» U-234/U-234 [Option ID = 953]

35) Rain is termed as acid rain when its pH value is
aul @l it aut & wa 3 smen s § S| $eoT pH aea 8tk

[Question ID = 240][Question Description = 52_qSNz_PG_GP26_0Q40]
1. 1-3/1 - 3 [Option ID = 957]

2. Less than 5.6/5.6 Jwm [Option ID = 958]

3. 5.6-7.0/5.6 - 7.0 [Option ID = 959]

4. More than 7/7 & sféer [Option 1D = 960]

Correct Answer ;-
e 1-3/1 - 3 [Option ID = 357]

36) Who chaired the first committee constituted by Government of India on Women's education after independence?

Faeden @ A Afganait &1 Risn uz wwa Teer e Afea ge afifr ot areasnr ooy 6t ?

[Question ID = 241][Question Description = $2_qSNz_PG_GP26_Q41]
Dr. Radhakrishnan/=. sruegmrer [Option (D = 961]

Dr. Durga bai Deshmukh /31, gotiang 2gmps [Option 1D = 962]

Hansa Mehta/gm fmar [Option 1D = 963]

Kamala Chaudhary/@mer dtedt [Option (D = 964]

R

Correct Answer :-
® Dr. Radhakrishnan/=1. sergwe [Option 1D = 961]

37) Disruptive technologies in education mean

fran & Rracormrdt auseliest ar afgra 3 2

[Question ID = 242][Question Description = 52_qSNz_PG_GP26_0Q42]
1. New technologies that completely change the way things are done in education/orlt arrstht B Siedvrr gfizn &t o= o goirrnasm Zeo 2 [Option ID =
965]
2. Prevention of technology in education /g # rrpdlis &t Fems [Option 1D = 966]
3. Use of Artificial Intelligence/sfpr gfs @ 3uaer [Option 1D = 967]
4. Obsolete technology/ agafer aessites [Option ID = 968]

Correct Answer :-
#» New technologies that completely change the way things are done in education /o=l ool B dlefiree giteen &1 sl &1 guiaen aga e 2 [Option 1D =
965]

38) Given below are two statements

Statement I: "The improvement of Secondary Education was an essential foundation for the improvement of Secondary
Education”, was the view held by the Calcutta University Commission

Statement |I: The Calcutta University Commission recommended the use of mother tongue in the intermediate colleges for
teaching all the subjects

In light of the above statements, choose the most appropriate answer from the options given below

ofld &t west Re srw 3 ¢

weret - | 1 el 12151 3 e weabios e d gor @ Rre afmrsmagel sne on” o Rae wawar Rrealiencrr arieT o on
wrerat - | : e RraRenerr sritet 5t w1l Rral @) age! @ Rie soxfifee ol 3 sngpirar @ sorer @Bt oy R

Rl wuell @ sers #, A Re oo Rraseal 3 91 JeY Yagrs a3 o1 ke Hifde

[Question ID = 243][Question Description = 52_qSNz_PG_GP26_0Q43]

Both Statement | and Statement [l are correct /weemr | iz |l St 321 £ [Option ID = 369]

Both Statement | and Statement |l are incorrect/wemr | i3 1| 3o o & [Option 1D = 970]

Statement | is correct but Statement Il is incorrect/mem | adt 3, fveg e |l awea £ [Option 1D = 971]
Statement | is incorrect but Statement |l is correct/@em | e 8, Preg @ || 3@t & [Option 1D = 972]

fa e 2=

Correct Answer :-
e Both Statement | and Statement |l are correct/mem | #fiz || S 1@t & [Option ID = 969]

39) The presence of which of the following points poses challenge for higher education system as per NEP-20207
A, Large affiliating universities

B. Ineffective regulatory system

C. Limited teacher and institutional autonomy

D. Emphasis on research
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E. Efficient merit based career management and progression of faculty members

Choose the correct answer from the options given below:

ol Toram oilfer - 2020 @ siaR Fwa 19180 di Rt eilferil Rosl GeofeiRan fagsil #f goga arit 8 :
A. gea Fafy frakenesn

B. sl fiformerr caaven

C. iif¥r Brerp ik dArufnr Farma

D. gfier Uz =1

E. 581 Aisaen amentya BHhwr gesm aiiz Bwed! Agel &l aen

oiil 18 =1e famcul # 3 Jé sz @ ada bifae ¢

[Question ID = 244][Question Description = §2_qS5Nz_PG_GP26_Q44]

A, B and C only/=m A, B 3fiz C [Option D = 973]
B, C and D only/=am B, C 3fiz D [Option ID = 974]
C, Dand E only/mmm €, D &z E [Option ID = 975]
A, D and E only/dam A, D sz E [Option D = 976]

b B —

Carrect Answer :-
& A, BandC only/gam A, B 3fiz C [Option D = 973]

40) Match List | with List Il

List | List Il
Schools of Philosophy Propounders
A. Samkhya l. Gautam

B. Nyaya 1l. Kanada
C. Vaisheshika . Kapila

D. Purvamimansa V. Jamni

Choose the correct answer from the options given below:

IRt -1 @ et -1l A AR Hif

et -| et -l
(ofor & fran 3iger) |[(fcrarc®)
A. witea I. siiaa
B. oo |II. UG
C. &g 1. wofrer
D. ouf sftmizn Iv. Sifeh

iy 2w a1o fascal & 3 51dl aa= gfone |
[Question ID = 245][Question Description = 52_q5Nz_PG_GP26_Q45]

1. A-1,B-Il,C-I¥,D- 1l [Option ID = 877]
2. A-1,B-1,C-1v, D- 1l [Option ID = 978]
3, A-NLB-1L,C-, D- IV [Option ID = 379]
4, A-IV,B-1l, C-1, D-1[Option ID = $80]
Correct Answer :-

« A-|,B-IlIl, C-I¥,D-1l[Option ID = 377]

Topic:- GP_29NOV_C

1) Read the passage carefully and answer the questions that follows

Throughout history, people have turned to mythology, folklore and religion for explanations of life’s origins, and to this day,
there are many who firmly believe what has been written in religious books and passed down from generation to
generation. With the advent of the Age of Reason in the 18 century and scientific advances in the 19™ century, however,
the quest for deeper knowledge could be satisfied by digging for empirical evidence and putting it to empirical test.

In 1865, Gregor Mendel, an Austrian monk who had been experimenting for eight years with garden peas, announced to the
scientific community that specific characteristics, or traits, were transmitted from parent to offspring in an organized and
predictable manner. Along with Charles Darwin's Theory of Natural Selection and evolution, as stated in his 1859
publication, 'On the Origin of Species'. Mendel's work set the stage for the science of genetics to become the prominent
explanation of where life comes from. With the help of improved microscopes, scientists discovered the existence and
structure of cells containing chromosomes. In the early 1900s, experiments with fruit flies revealed that chromosomes
located in the cell's nucleus were made of genes, The Drosophila, commonly called fruit fly, was the first living organism to
be genetically mapped. In 1944, Oswald Avery identified genes in bacteria as genetic messengers made of DNA. In 1953,
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James Watson and Francis Crick discovered the double-helix structure of DNA, for which they received the Nobel Prize nine
years later, With each ground breaking discovery, molecular biologists were able to form an even clearer picture of the
mechanics of life. To crack the code of life, prominent scientists proposed compiling a comprehensive genetic map of a
human being.

ofia fog sretior @1 ufew sz Faz dfew @

g sfiera 3, Sflaa & sga & carsarl © e cell @1 g Jiafine oo, didaen iz epf & iz & 761 e anft oo aga 3 dlsi o1 26
fepanzr enfifes sfeli 3 fera o1e aell & w1 B oz 32 o1 i€l o2 Jidl 29t agrn s za1 € 18 & w1 & enfidasen arey 391 & smeRier A, fowden
oil, soiasTe Fgl SRI YR RKpw sol 31l 331 aepisod ulamt 3 ueEn @ SR S Bl ARPIE ©] e Kb s #3<o1

1865 4, sjlar Avsd, vw anficua wg] Rregiar fesd 8 aut A sudar #ice uv 3ua YRieT w2 1 &8, Joaiol dSienn PRI 3 wiaw Ren R
faforee fadraam, steran dgrn, an-firm 3 araelt Fiafa 3 Fsifsa sit yalopa adids 21 rawnafls ge  zad el arcd sifdfa & gafos awer
3z Rrepra © Bigia @5 1859 & gwigrer, 'ganfiral @ 3ga’, 3 woen sri By dvsa & mier stasr © sga O g s gonps siegaifdrdt
o o5 e oo o1 Fenftua e

Fonltra gl & wermaR, dsnfors # GEiwEa acll Siforeni & afiara sz Fizgen &t @@= Rear 20 & 718 & usd g & ARy
#, B a3 ysar arclt afyeri(g ceerd) gz five s& gaiett A uon oo &y wiidrest © syfreras d sralaa qlaensa sfta & oififa & Shafar
HHARG FU H B TR @l ool Al g stk o 20t Brewor soaiiske vu 3 aeifkge R srn 1944 3, sl sdidl st Al dar v A
forfita srgqaifore Aot ares & Hu I adifrn 3 urR FIEY are Site &1 aar aemen 1953 3 Sw dicwa iz wift fige o €Y va ¢ & Jet
pustirt @B wier Ko Br o seeiat 9 o ai &lda geeor gm fear  gdws ger-ubaderert wis © g Jgasiaiksmst stae 6 aiferbt
bl wrkifers Fuse iz doliol A G 8l 3R Sliael @ ®Is @l Sieldl @ e ggpa dsailors d #Alek © IIU® AGdiions ARKUI & Jiboel
1 gfvr arger R

What is the meaning of 'empirical evidence'?

"MoIASIoN TG W 9T aar § ?

[Question ID = 246][Question Description = 52_qSNz_PG_GP26_Q46]
1. based on observation and capable of being verified/smewe @ amem w # FeeT 29 GRFD

[Option ID = 981]
2. based on received knowledge /sgm kow 3@ Sa Uz amenfa
[Option ID = 982]
3. based on knowledge from historical empires/elF=finr apr= @ suer o amnfy

[Option 1D = 983]
4. based on mythology and folklore /ditcs ©en stz & @an e amnkad

[Option ID = 984]

Correct Answer ;-

* based on observation and capable of being verified / ammirre @ amnz w iz aralter S5 ARRE
[Opticn ID = 981]

2) Read the passage carefully and answer the questions that follows

Throughout history, people have turned to mythology, folklore and religion for explanations of life’s origins, and to this day,
there are many who firmly believe what has been written in religious books and passed down from generation to
generation. With the advent of the Age of Reason in the 18:n century and scientific advances in the 1%+ century, however,
the quest for deeper knowledge could be satisfied by digging for empirical evidence and putting it to empirical test.

In 1865, Gregor Mendel, an Austrian monk who had been experimenting for eight years with garden peas, announced to the
scientific community that specific characteristics, or traits, were transmitted from parent to offspring in an organized and
predictable manner. Along with Charles Darwin's Theory of Natural Selection and evolution, as stated in his 1859
publication, 'On the Origin of Species'. Mendel's work set the stage for the science of genetics to become the prominent
explanation of where life comes from. With the help of improved microscopes, scientists discovered the existence and
structure of cells containing chromosomes. In the early 1900s, experiments with fruit flies revealed that chromosomes
located in the cell's nucleus were made of genes, The Drosophila, commonly called fruit fly, was the first living organism to
be genetically mapped. In 1944, Oswald Avery identified genes in bacteria as genetic messengers made of DNA, In 1953,
James Watson and Francis Crick discovered the double-helix structure of DNA, for which they received the Nobel Prize nine
years later, With each ground breaking discovery, molecular biologists were able to form an even clearer picture of the
mechanics of life. To crack the code of life, prominent scientists proposed compiling a comprehensive genetic map of a
human being.
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sl feu sretior @l ufew iz 7az difem ¢

g3 sfiere 3, Sflaa @ sga & sl © e ciell @1 gk Jiafine oo, didaen iz epf &1 iz & 761 e it oo aga 3 dlsi oI 26
Rrearar enfifas sj2i 3 Rra) s1o a2 & wor 8 aiiv w2it oot At o3 At s0°1 g snar w51 3 18 & wdt & afdfosen @dl gor @ amswrar A, Broon
#il, soMaEIe F SRI Y Rov siol 3l 331 aepisod uiamt 3 aeEn @ SR S Bl ARPILT ©f HAdee Rbar s #<o1

1865 9, ar Jivsa, v anficaa ) Presie i 8 auf 3 suda #ics v suel Yo o= | 9, Joaiol dsilorm SR & Higv e |e
faforee fadraang, sierar dgron, ann-firm 3 araelt Fiafa 3 Fsfsa sitz yalopa adid 21 raenafsr ge o el arced sifta & grafas e
3fiz fompra @ Rigia @ 1859 @ yweere, 'genfrril @ 3ga’, 3 aara s [y fivsa @l st sitaet @ 3ga Bl YIard <RIl "oRb: Aofaidrbt
fersiet @ foro oo vt Tenfta fosen

Fonftra Fgaciokll &1 FermaR), o # S ardl St & afta iz Fiwen & @ kear 20 of 718 & usd gorw @& AR
#, B a2 vsar arelt afyEri(g ceard) az fivg s ganett A uan oo &y widret © syfreras A salaa qlaienea sfta & Bififa & Shafvar
HIAIGA U A B TS Dal Aol drcll gea sitfdaa fra ot forerpr sroailtie su 21 aeiker kear sron 1944 3, sisam cald Sl va o 3
forfita srgqaifore Aeter ares & Hu I adifrn 3 urR FIEY arel Sfts &1 uar aemn 1953 3 SEw dicwa oz wift fiae o 4 var ¢ & Jie
pusiiedl @Ot e Ko e fow sesia 9 o ar sia geeoer g fear  grdo ger-uiaderordt ®is © mr1 Jgeasiaiseht shae Bt aiferbt
bt wekmifers Fuse milz doliol A AW 8l 3R Siiael @ ®Is @l Sieldl @ o gpa dsmfrs d #Alel © oIU® AGaiions ARKYI & Il
1 gfer aiger R

According to the author, what were the initial sources of information for understanding the beginning of life?

T W AR, Sidol @l 9FH3IE B HASH B 18 STorbRl @ yRBcn Hia = 8 ?

[Question ID = 247][Question Description = 52_qSNz_PG_GP26_0Q47]
1. Scientific discoveries/d=nkrr =S

[Option ID = 385]

2. Folk knowledge and scriptures/aws o sire Jie aefsjy
[Option ID = 986]

3. Imaginative literature /wouisrs mfzeT

[Option ID = 987]
4. Discoveries of Mendel and Darwin/3vem iz =ifda £ =t

[Option ID = 988]

Correct Answer :-
e Scientific discoveries/Tsnfrr aist

[Option ID = 985]

3) Read the passage carefully and answer the questions that follows

Throughout history, people have turned to mythology, folklore and religion for explanations of life’s origins, and to this day,
there are many who firmly believe what has been written in religious books and passed down from generation to
generation. With the advent of the Age of Reason in the 18:n century and scientific advances in the 1%+ century, however,
the quest for deeper knowledge could be satisfied by digging for empirical evidence and putting it to empirical test.

In 1865, Gregor Mendel, an Austrian monk who had been experimenting for eight years with garden peas, announced to the
scientific community that specific characteristics, or traits, were transmitted from parent to offspring in an organized and
predictable manner. Along with Charles Darwin's Theory of Natural Selection and evelution, as stated in his 1859
publication, 'On the Origin of Species'. Mendel's work set the stage for the science of genetics to become the prominent
explanation of where life comes from. With the help of improved microscopes, scientists discovered the existence and
structure of cells containing chromosomes. In the early 1900s, experiments with fruit flies revealed that chromosomes
located in the cell's nucleus were made of genes, The Drosophila, commonly called fruit fly, was the first living organism to
be genetically mapped. In 1944, Oswald Avery identified genes in bacteria as genetic messengers made of DNA, In 1953,
James Watson and Francis Crick discovered the double-helix structure of DNA, for which they received the Nobel Prize nine
years later, With each ground breaking discovery, molecular biologists were able to form an even clearer picture of the
mechanics of life. To crack the code of life, prominent scientists proposed compiling a comprehensive genetic map of a
human being.

ol féu sretior @ ulew iz Faz difsm ¢

g sfiere 3, Sflaa @ sga & casarl © e eiell @1 g Jiafine oo, didaen iz epf &6 iz & 761 e anft oo aga 3 disl @1 26
Rrearar enfifas sjoi # R s1o aeat & z5r 8 Jiiv w2it oot didt o2 At 3001 aran sner w51 3 18 Ff wdt & anfdfosenr @dY gor @ arswrar A, Broon
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ait, steprasey AERl SRl gt Rre sia) s §3 sropiaste af¥aor 3 aves @ Fie1 s B smosisn o dAqee Bear s sy

1865 &, sar Jvsa, v snficaa ey Biesior fred 8 aal A snder sicy a9 31ual gEiler w3 33 &, Jsdia dofere sera # @igen e 5
farforee farorannd, srerar crgm, sART-Ttar 31 sraclt wata 3 derfda sz galasma adls 3 rusiafs ge s areEd aced sifdfa & glae arm
3z Rrora © Bigia @5 1859 & gwigrer, 'ganfirll @ 3ga’, 3 aaren srn By dvsa & aier shasr © 3ga O g s goups sioaifdndt
et & e oo @eon Fenfim Rsen

Follftr Jgacidki & FermE, denfernt & weiEa aril Sifdresl & al¥ac i o & @@ R 20 of 718t @ usd S9rT @ 3R
H, el Uz T30l arcil Al g, cweld) uz foe 31 gRNsii A Ul acll o olideT o ok 3f salera oz offa A fofdfa & Seiftben
HHARI U H BT @l ool il gerd stk for 20t Brewor soaiiske a3 aeifkge Remsrn 1944 3, sl sl st Sl e v A
fofifa sgmifore Feeor ae® & Hu A Sadiiyrm i url Je aet Jffa o uar aemen 1953 3 S dicaw 31z it o &t 3t va ¢ & Q16
grostersht @5t ws v frrds Rie sssiar 9 ad e siida gevor g fvar  grdos ger-abadersd w5 @z Jeasiialssh shaa & aifdbt
&1 Fdiierr Fuse awdlz gonel 4 W6 8l 3R Shaa & 15 Pl Siidel o foe gapa dsnfers # Aem © snus Agaifbis AeikEe @ Fiboa
@1 yfa ared e

What is the theme of this passage?
T3 STEnior w1 Her- Rz o F 7

[Question ID = 248][Question Description = 52_qSNz_PG_GP26_Q48]
1. Origin and mechanics of life/sgu diz stk &t wffh

[Option ID = 989]

2. Scientific knowledge from ancient times/qrfier om @ S @
[Option ID = 990]

3. Structure of cell/wHerm &t et

[Option 1D = 991]
4. Belief versus science/=en oo g

[Option ID = 992]

Correct Answer :-
# Origin and mechanics of life/3ga #iz sias & =ifb

[Option ID = 989]

4) Read the passage carefully and answer the questions that follows

Throughout history, people have turned to mythology, folklore and religion for explanations of life's origins, and to this day,
there are many who firmly believe what has been written in religious books and passed down from generation to
generation. With the advent of the Age of Reason in the 18« century and scientific advances in the 1%+ century, however,
the quest for deeper knowledge could be satisfied by digging for empirical evidence and putting it to empirical test.

In 1865, Gregor Mendel, an Austrian monk who had been experimenting for eight years with garden peas, announced to the
scientific community that specific characteristics, or traits, were transmitted from parent to offspring in an organized and
predictable manner. Along with Charles Darwin's Theory of Natural Selection and evolution, as stated in his 1859
publication, 'On the Origin of Species'. Mendel's work set the stage for the science of genetics to become the prominent
explanation of where life comes from. With the help of improved microscopes, scientists discovered the existence and
structure of cells containing chromosomes. In the early 1900s, experiments with fruit flies revealed that chromosomes
located in the cell's nucleus were made of genes. The Drosophifa, commonly called fruit fly, was the first living organism to
be genetically mapped. In 1944, Oswald Avery identified genes in bacteria as genetic messengers made of DNA, In 1953,
James Watson and Francis Crick discovered the double-helix structure of DNA, for which they received the Nobel Prize nine
years later, With each ground breaking discovery, molecular biologists were able to form an even clearer picture of the
mechanics of life. To crack the code of life, prominent scientists proposed compiling a comprehensive genetic map of a
human being.

il fou sEny @l ufgu iz e difons ©

g3 sfeer 3, shiaa @ 3pa & carcarl & e dell @1 goem diafine o, diisaen 3 et @6 stz & 231 3z anft aar aga A o=l @1 &5
femanzr enfifes sjell 3f feraa o1e Al & z&1 B iz 72i &1 didl o2 Ji6l 2ot agrn st za1 € 18 & w1 & enfidosen arey 31 & JmeRer A, fowden
ofl, soaEIe Fgdl SRI YR Kpw sol 3l 331 aepisiod uiamt 3H ueEnl @ SR S Bl ARPILH ©] A Rbar s #1

1865 4, sjiar Avsa, vw anfcus wg) Rregia fed 8 aut A s1dar #ics U7 3ua YRileT @ 1 &, Joaiol asienn SR 3 wiuwn fen R
farforee faroranns, arerar crgm, swm-ToeT 31 araclt Fafa 3 derda sz galesa adls 3 roraiafs ge  sas g ot siffa & glae are
3iiz Rrpra @ Bigia o5 1859 @ gwigier, 'ganfiral @ 3, 3 aaren sri By dvsa & wier sasr @ sga O g s gonps siogaifdrdt
et & fone oo oo Fanftm fsen

Fonftra el 6 wermR), dsnfors # Tl acll Siforenil & afiara sz Fizgen &t @ fear 20 & 718 & usd s & ARy
¥, Bl Uz Taol arcil Afrei( g, ewelrd) Uz fiow 3R gReil A uan adl fis olfdmeT & faraa 3 safiea o offa 3 fofifa & Srenfben



www.prepp.in .repp

Your Personal Exams Guide

HAGT Fa A G oorars of oot archt gem sifda Bry oft Breror sopaildrer sa 3 aeiRger foar sren 1944 3, siaara cafl aftea e A
foifdfa argaifdre eeor ae® & Hu 3 Sadiien d ur @ ad it o1 uar asmen 1953 3 Siew dicaa i wifda o of 3t va o & Qe

wrosiersh & ws v Brerds Rie sssiar 9 ad e siide qeeoer g fvar 9o ger-afaderad! w3 @ p geasiialRssh shaa & it
bt sckpifere Fuwe ailz ool A AGd 3l °R  Siiasl O WIS Wl Siolel @ o gEpm oo d #Aler W RIIUD GG AR & IRpoo
@1 gfa argd feen

Whose scientific contributions inaugurated the science of genetics?

foomas dsmicrn APIcoll of iglaifordhl fasier @1 gpyrdy fosan ?

[Question ID = 249][Question Description = 52_qSNz_PG_GP26_0Q49]
1. Charles Darwin/wa =1if=

[Opticn ID = 993]
2. Gregor Mendel/3pr dwsa

[Option ID = 994]
3. Gregor Mendel and Charles Darwin/Spre drsa i oo =ififa

[Opticn ID = 995]
4. James Watson and Francis Crick/sma aema i wite Rpw

[Option ID = 996]

Correct Answer :-
& Charles Darwin/oned =iitw

[Option ID = 993]

5) Read the passage carefully and answer the questions that follows

Throughout history, people have turned to mythology, folklore and religion for explanations of life's origins, and to this day,
there are many who firmly believe what has been written in religious books and passed down from generation to
generation. With the advent of the Age of Reason in the 18 century and scientific advances in the 1%+ century, however,
the quest for deeper knowledge could be satisfied by digging for empirical evidence and putting it to empirical test.

In 1865, Gregor Mendel, an Austrian monk who had been experimenting for eight years with garden peas, announced to the
scientific community that specific characteristics, or traits, were transmitted from parent to offspring in an organized and
predictable manner. Along with Charles Darwin's Theory of Natural Selection and evolution, as stated in his 1859
publication, 'On the Origin of Species'. Mendel's work set the stage for the science of genetics to become the prominent
explanation of where life comes from. With the help of improved microscopes, scientists discovered the existence and
structure of cells containing chromosomes. In the early 1900s, experiments with fruit flies revealed that chromosomes
located in the cell's nucleus were made of genes. The Drosophila, commonly called fruit fly, was the first living organism to
be genetically mapped. In 1944, Oswald Avery identified genes in bacteria as genetic messengers made of DNA, In 1953,
James Watson and Francis Crick discovered the double-helix structure of DNA, for which they received the Nobel Prize nine
years later, With each ground breaking discovery, molecular biologists were able to form an even clearer picture of the
mechanics of life. To crack the code of life, prominent scientists proposed compiling a comprehensive genetic map of a
human being.

ol fou srngr @l ufgu iz e difons ©

g3 sfeer 3, shiaa @ 3ga & carcard © e dell @1 goera diafins war, diisaen 3z et @6 stz & 231 oz anft aar aga A o=l @1 &5
femanzr enfifes sfell 3 feraa o1e aell & w1 B a1z 32i @1 didl o2 didl 29t agrn s za1 € 18 & w1 & enfadosen arey 391 & JmeRer A, forden
ait, smeprase JERl SR ARt Roe s i §3 sopiaste af¥aor 3 aves @ FR1 snar B smosisn o dAqee Bar s sy

1865 4, sjar Avsd, vw anficua wg] Rregiar fiesa 8 aut A s1dar #ice uv 3ua YRileT o 3 &, Joaiol asienn SR 3 wiawn Re=n R
faforee faroraans, srerar crgmn, FRTT-TtaT 31 araell Fafa 3 delda sz yalada adls 3 reraiafs ge  sas wndl ot sifda & gglae o
iz Ry @ Bigia @5 1859 & gwigier, 'ganfirl @ 3, 3 aoren srin By dvsa & aer stasr @ ga O g s gonps siegaifdrdt
et & fore o oo enfim fsen

Folftm Jgacidkl & FermR, denfernpt & i acil Sifdresil & alac i e & @@ R 20 o 718 @ usd s9rw @ 3R
H, el Uz T30l arcil AlFEi( g, cwelrd) uz fpe 3R gRNsil A Ul acll o olideT o ok 3f salera o offa A forfdfa & Seiftben
HIARGI U H B TR @l ool Al gard Stk o 20t Brewor soaiiske va 3 aeifkge Reem srn 1944 3, sl sdidl st Sl e v A
fafdfa srgaifdre woer e @ Fu 3 Tadiiyrn d ur A @k S @1 uar aemen 1953 31 Sigw dicas sfiz wifina g & 31 va ¢ & Q16
wrosiersht @t ws Ry frerds Rie sssiar 9 ad e siide gevor g fvar  gedos ger-afaderd = @z JeasiialRssh shaa & aifdbt
bt wedmifers Fuse dilz doliol A G 8l 3R Siiaal @ ®Is @l Sieldl @ fow g dsmfrs d #Alei © <IU® AGaiiors ARKUI & Jibel
@1 gfa ared feen
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What helped molecular biologists to form a clearer picture of the mechanisms of life?

sitael @ wifeeb Bl Fuse Az deet A g SialkEnbri o e wera g g5 ?

[Question ID = 250][Question Description = 52_qSNz_PG_GP26_0Q50]
1. Knowledge from myths/Brrol 3 qg @

[Option ID = 997]
2. Incentives like Nobel Prize/sieer goverr 53 ips

[Option ID = 998]
3. Evidence based discoveries/sm=T smenlsT wiet

[Option ID = $99]
4, Technical imitations /aeaforb o

[Option ID = 1000]

Correct Answer :-

® Knowledge from myths/Brrs! 3 gm 5=
[Option ID = 997]

Topic:- History_Set1_shi1_A

1) Which of the following chaleolithic sites 1s located in Rajasthan?

(1) Songaon (2) Eran
(3) Chandoli (40 Ganeshwar

T T AIHITETOT T HTbH AT T Yo § S 27

(1) @ (2 T
(3) = @) YR

[Question ID = 10619][Question Description = Q01_History_SHAAN_Z24NOV21_51_5hift1]
1. 1 [Option ID = 12473]
2. 2 [Option ID = 12474)]
3. 3 [Option ID = 12475]
4. 4 [Option ID = 12476)

Carrect Answer :-
& 1 [Option ID = 12473]

2)  In which of the following texts are the Sabha and the Samiti mentioned as the two
daughters’ of a Vedic deity?

(1) Rigveda (2) Yajurveda
(3) Atharvaveda (4) Bnhadaranyaka Upanishad

i § Fra wyr o T ofiv gfufa o 3g@ v A g i g gt & w7 9 e w27

1) w (@) TR
(3)  SIydae (4) FEIRIHH (G,

[Question ID = 10620][Question Description = Q02_History_SHAAN_24NOV21_S$1_Shift1]
1. 1 [Option ID = 12477]
2. 2 [Option ID = 12478
3. 3 [Option ID = 12479]
4. 4 [Option ID = 12480
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Correct Answer ;-

e 1 [Option ID = 12477]

) Who played an important role in distribution of Gautama Buddha’s sarira-dhatu (relics) after
his Mahaparinirvana?
(1) Ajatasatru (2) Drona
(3) Mahakasyapa (40 Upah

e g5 F TEMEREE % 97 ST TR a1g (3rEen) % faaon 3 e uaa g f ?

(1)  ommawg (2) T
(3)  HETHTA (4) I

[Question ID = 10621][Question Description = Q03_History_SHAAN_24NOV21_S1_Shift1]
1 [Option ID = 12481]
2 [Option ID = 12482]
3 [Option ID = 12483]
4 [Option ID = 12484]

RS FE I N QY

Correct Answer ;-
e 1 [Option ID = 12481]

4)
The Jaina council at Valabhi was presided over by :
(1) Nagarjuna (2) Kundakunda
(3) Skandila (4) Bahubali

T TS S O S steasan e o ofi v

£

(1) A (2) FF=
(3) T (4) wgEf

[Question ID = 10622][Question Description = Q04_History_SHAAN_24NOV21_S$1_Shift1]
1. 1 [Option ID = 12485]

2. 2 [Option ID = 12486

3. 3 [Option ID = 12487]

4. 4 [Option ID = 12488
Correct Answer ;-
e 1 [Opticn ID = 12485]

Which of the following pairs indicate female teachers according to ancient grammarians?
(1)  Acharya and Acharyani

(2)  Acharyani and Upadhyayani

(3) Upadhyaya and Upadhyayani

(4)  Acharya and Upadhyaya

TR AR SER FefafEd § ® SH-3 3 Atgen ittt w s w27
(1)  >7=mEi ©d ST
(2)  STETEY T e
(3)  SWEARN T IUHEA
(4)  FEE T ST
[Question ID = 10623][Question Description = Q05_History_SHAAN_24NOV21_S1_Shift1]
1. 1 [Option ID = 12489]

2. 2 [Option ID = 12490
| 3. 3 [Option ID = 12491]
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Carrect Answer :-
& 1 [Option ID = 1248%]

Lajahoma was a part of
(1) Vajapeva sacrifice (2) Marrage ceremony
(3) The Sannyasin’s duties (4) Panchamahayana
AR 3 o -
(1) = T @ Fremw ageE =
(3) T % A (4) GFIEEE w

[Question ID = 10624][Question Description = Q06_History_SHAAN_24NOV21_S1_Shift1]

1 [Option ID = 12493]
2 [Option ID = 12494]
3 [Option ID = 12495]
4 [Option ID = 12496

Correct Answer ;-
e 1 [Option ID = 12493]

During the Saka-Satavahana period the range of interest on fixed deposit (akshayanivi) as
described in the inscription of Nasik Cave No. 10 was:

(1) From 6 to 9% (2) From 9to12%
(3) From 12 to 16% (4) From 15to 18%

th a7 T 10 % ANCEHER Th-aaared B 4 SIEEH W sars o o

(1)
(3

64 9 yldwa (2 9% 12 ufawa
124 16 gfaz@ @) 154 18 ufdwm

[Question ID = 10625][Question Description = Q07_History_SHAAN_24NOV21_S$1_Shift1]
. 1 [Option ID = 124%7]
. 2 [Option ID = 12498]
. 3 [Option ID = 12499
. 4 [Option ID = 12500]

1
2
3
4

Carrect Answer :-
& 1 [Option ID = 12497]

Isvarakrishna was :

(1) a Vaishnava teacher from early medieval Orissa

(2) a King of Assam in the eighth century AD

(3) a philosopher of one of the six systems of philosophy
(4) a lawgiver of the medieval period

Syearpon 9

(1) 76w s % o duE e
(2)  SUSdl WAl °§ ST % U U9

(3) W3-TEN H W TH F WA

(4)  HEwHE % O fatteran

[Question ID = 10626][Question Description = Q08_History_SHAAN_24NOV21_S$1_Shift1]
1. 1 [Option ID = 12501]
2. 2 [Option ID = 12502]
3. 3 [Option ID = 12503]
4. 4 [Option ID = 12504]

prepp
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Correct Answer ;-
e 1 [Option ID = 12501]

Which of the following inscriptions suggests a taime reckoning starting from the Bharata war?

(1) Aihole Inscription of Pulakesin - I1

(2) Madhuban copper-plate of Harsha
(3) Poona copper-plate of Prabhavati Gupta

(4) Haraha Inscription of Isanavarman

fetafoa 4 = tFe sifiea 4 yRa-3g it Fre-mm = sga e 20

(1)  TerniH fadm % vEe otfierg 3§ (2) =9 % A aEIA |
(3) S AT F A A W @) St ¥ guE wfer &

[Question ID = 10627][Question Description = Q09_History_SHAAN_24NOV21_S1_Shift1]
. 1 [Option ID = 12505]
2 [Option ID = 12506]
. 3 [Option ID = 12507]
. 4 [Option ID = 12508]

RN S PE S 1 s

Correct Answer :-
a 1 [Option ID = 12505]

The punishment for theft differed from Varna to Varna. Who among the following was given
the highest punishment?

(1) Brahmana (2) Kshatnya
(3) Vaisya (4) Sudra

=it = fom aiER fim-fim gve-fagm a? Fefafae © @ 58 aifis gve fom e

(1)  wmEm 2) &atm
(3 = @ g

[Question ID = 10628][Question Description = Q10_History_SHAAN_24NOV21_S1_5Shift1]
. 1 [Option ID = 12509]
2 [Option ID = 12510]
3 [Option ID = 12511]
. 4 [Option ID = 12512

N FURN .

Correct Answer :-
e 1 [Opticn ID = 12509]

11 ;
} In the Bayana Hoard, coins of which Gupta ruler have been found in the highest number?
(1) Chandragupta - I (2) Samudragupta
(3) Chandragupta - II (4) Kumaragupta -1

= gz Fem o e 7w i maifass gy gs 27

D  FsmE -1 (2) THIIH
(3 “=m-I (9 FATE -1

[Question ID = 10629][Question Description = Q11_History_SHAAN_24NOV21_S1_5Shift1]
. 1 [Option ID = 12513]
2 [Option ID = 12514]
3 [Option ID = 12515]
. 4 [Option ID = 12516]

I TR ' Y

Correct Answer :-
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|« 1 [Option ID = 12513]

12
) Apararka the famous commentator of Yajnavalkya Smriti was the king of:
(1) Sailodabhava dynasty (2) Sena dynasty
(3) Silahara dynasty (4 Kakatiya dynasty

AFEed T % ufag FHmn oaTs T 9

(1) Sefigd T=aT (2) T USET *
(3) TromEr teaw & (4) A TN

[Question ID = 10630][Question Description = Q12_History_SHAAN_24NOV21_51_5Shift1]
. 1 [Optien ID = 12517]
. 2 [Optien ID = 12518]

1
2
3. 3 [Option ID = 12519
4

. 4 [Option ID = 12520]
Correct Answer -
e 1 [Option ID = 12517]
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13 ; i ; : ; o
) Who among the following kings mentioned 1n the Rajatarangim personally went to a leather

worker (charmakara) with a request to get a small piece of land of his cottage needed for the
construction of temple of Tribhuvanasvami?

(1) Avantivarman (2) Chandrapida
(3 Muktapida Lalitadityva (4) Tarapida

Frfafga o o u=sgfnf § aftia ag 9 @ 7o 2 59 w2 ok aien & w9 Sygaad @ af
war  foru 3oy i i wfi At ?

Q)  Efgeamt (2 ==rdis
(8) uwis T (4) dmEE

[Question ID = 1063 1][Question Description = Q13_History_SHAAN_24NOV21_51_5hift1]

1
2
3
4

. 1 [Option ID = 12521]
. 2 [Option ID = 12522]
. 3 [Option ID = 12523]
. 4 [Option ID = 12524]

Carrect Answer :-
& 1 [Option ID = 12521]

14)
The royal orders issued by the Rashtrakuta kings and recorded by their secretaries were
known as :
(1) rajapatra (2) rahasyadhikrita
(3) rajasravitam (4) adhikarana

e T gl Sl 3itt s wferan gro srfisferfias smest =, =1 Sar o ?

(1) T (2) TEAaFd
(3)  UwHE, (4) srferEe
[Question ID = 10632][Question Description = Q14_History_SHAAN_24NOV21_S1_Shift1]
1. 1 [Option ID = 12525]
2. 2 [Option ID = 12526
3. 3 [Option ID = 12527]
4. 4 [Option ID = 12528]
_ Correct Answer :-
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| @ 1 [Option ID = 12525]

13) Name the Sultan who. because of his generosity. was also known as lakh bakhsh.
(1) Qutbuddin Aibek (2) Iltutmish
(3) Firuz Tughlagq (4) Sikandar Lodi

IR goar T ST IERa1 F g g S % AW " W JE S 91, SEE AW Sy

(1)  FagEH Ueh (2) weqgaraw
(3) TRt e (4) Ty i

[Question ID = 10633][Question Description = Q15_History_SHAAN_Z24NOV21_51_5hift1]
1. 1 [Option ID = 12529]
2. 2 [Option ID = 12530]
3. 3 [Option ID = 12531]
4. 4 [Option ID = 12532]

Carrect Answer :-
& 1 [Option ID = 12529]

After Gwalior campaign in 1232, a commemorative coin was struck to mark the victory.
Whose name was inscribed on the coin along with that of Iltutmish?

(1) Turkan Khatoon (2) Nasiruddin Mahmud
(3) Ruknuddin Firuz (4) Raziya Sultan
1282 % TR @ifEm & wid o vk Wb e wil e omn s m segamy 6 afaRw iR
fFat Tm Schiol i ?
(1)  &H g (2) HREER TEg
(3)  TIEH TR (4) Tem geam

[Question ID = 10634][Question Description = Q16_History_SHAAN_24NOV21_S1_Shift1]
1. 1 [Option ID = 12533]
2. 2 [Option ID = 12534]
3. 3 [Option ID = 12535]
4. 4 [Option ID = 12536
Correct Answer ;-
e 1 [Opticn ID = 12533]

17)  ‘“The Sultan ordered the Maliks. Amirs. officers of the court and persons of responsibility and
status not to go to each other's houses or to collect parties at banquets: there were to be no
intermarriage among them unless the Sultan had been informed and his permission
obtained’. Identify the Sultan.

(1) Balban (2) Alauddin Khalj
{3) Muhammad Bin Tughlagq (4) Frruz Shah Tughlaq

‘goaw J Ao, ST, ER % sl aur MR 9T Fas A Saiedl H TH-gE H W T W IR
TETEA ¥ WHES T2 T B W e A ; geam w ghaa fe S oW sudh ommfa o o o
dfra stafdars $ sonwa 79 o | Geam Bl TEETY)

(1)  wemA (2) e Terst

(3) HeE fod g @) T g

[Question ID = 10635][Question Description = Q17_History_SHAAN_24NOV21_51_5hift1]
1. 1 [Option ID = 12537]

2. 2 [Option ID = 12538)

3. 3 [Option ID = 12539)

4. 4 [Option ID = 12540]

Carrect Answer ;-

s 1 [Option ID = 12537]
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18) , : ;
Ibn Battuta informs that the Sultan had fixed Wednesday for freeing male slaves, Fruday for
freeing female slaves and Saturday for marrying men slaves to female slaves. Idenfify the

Sultan.
(1) Balban {(2) Alauddin Khalj
(3) Muhammad Bin Tughlaqg {(4) Firuz Shah Tughlaq

T SgaT AV oaT 7 196 gear o TR Al i g 0 T A i fed, wiger et % qw v @
foru ypar 1 f&A aur g%y Tami it afzer T § wUH < foe wiFar w0 T aa G o) geam =t

TR |
(1)  wosA (2) TSI Ters
(3) uemg fom grew @ R o s

[Question ID = 10636][Question Description = Q18_History_SHAAN_24NOV21_51_5Shift1]
1. 1 [Option ID = 12541]
2. 2 [Optien ID = 12542]
3. 3 [Optien ID = 12543]
4. 4 [Option ID = 12544

Correct Answer :-
e 1 [Option ID = 12541]

In which of the following rulers’ reigns the billon currency seems to have nearly entirely
replaced silver coinage?

(1) Alauddin Khaljn (2) Muhammad Tughlag
(3)  Firuz Shah Tughlag (4 Balban

frfefaa & o fea wmas = wweERe 9 surg gz (Rema =) 3 = & Gl & ame git @t

yieeenioa =t fem ?
()  HesEH gesl (2) HEWE g
(3) Tt Wi gers @) o

[Question ID = 10637][Question Description = Q19_History_SHAAN_24NOV21_S1_Shift1]
1. 1 [Option ID = 12545]
2. 2 [Option ID = 12546
3. 3 [Option ID = 12547]
4. 4 [Option ID = 12548

Correct Answer :-
e 1 [Opticn ID = 12545]

He took keen interest in debates, and when Srnatha defeated his court poet, Dindima, 1n a
disputation, he honoured the former with the title of Kavi Sarvabhauma, and ‘bathed him in
gold coins’. Identify this Vijayanagar ruler:

(1) Harihara I1 (2) Deva Raya Il

(3) Mallikarjuna Raya (4) Virupaksha Raya Il

Tz are-faar gur wret 8 el Reaeht wga o, o 5w iy 3 sos uas Bem w0 v ey 8
W T af 3 e (e @) FiE mev sty O gonta e ok 38 4R ¥ el g

Tl | TIoaTR % 39 TS B a9 R
(1) sE=RII (2) sEwE I
(3)  wigwNE T (4) Tomma wa 11

[Question ID = 10638][Question Description = Q20_History_SHAAN_24NOV21_51_5hift1]
1. 1 [Option ID = 12549]
2. 2 [Option ID = 12550]
3. 3 [Option ID = 12551]
4, 4 [Option ID = 12552]

Correct Answer :-
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| & 1 [Option ID = 12549]

The first pilgrim centre for the Sikhs, symbolized with the construction of a well with
84 steps. to reach the water for bathing, which became sacred for the Sikhs was established
by which one of the following Sikh Gurus and at which place?

(1) Guru Ram Das - Amritsar (2) Guru Amar Das - Goindwal

(3) Guru Angad - Khadur (4) Guru Nanak - Kartarpur

Frafafaa & @ Tro fam 1% A gl = foe wom wdfiss Y ¥ <6 T 6 T = =9 & foae ot
T UgaH W for 84 Hifeat At 30, < e % o vis -t B o, # e G T R e w?

(D) 7% TH T - A (2) T AW W - e
(3) TE AR - TR (4) T TEEH - FLARE

[Question ID = 10639][Question Description = Q21_History_SHAAN_Z24NOV21_51_5hift1]
. 1 [Option ID = 12553]
. 2 [Option ID = 12554]
. 3 [Option ID = 12555]
. 4 [Option ID = 12556]

R PR (N

Correct Answer :-
# 1 [Option ID = 12553]

22)
Poems classified as upadesha rupaka (didactic metaphors) in Marathi bhakti poetry were
known as
(1) Bharud (2) Abhang
(3) Palana (4) Vachana

TS UitE FTeA H IR FIF 5 T W HQ DS B T FHE A1 A7

(1) wEs (2) s
(3) e @ T

[Question ID = 10640][Question Description = Q22_History_SHAAN_24NOV21_51_5Shift1]
1. 1 [Option ID = 12557]
2. 2 [Option ID = 12558
3. 3 [Optien ID = 12559]
4. 4 [Option ID = 12560

Correct Answer :-
e 1 [Option ID = 12557]

23) Which of the following Sultans in his farman used to address the amirs as Masnad-i ali?

(1) Qutbuddin Aibek (2) Balban
(3) Firuz Tughlag (4y Bahlol Lod1

fFfafaa 8 @ FH W SodE S0 FEA | 67 B F9E-T Al % AW 8§ Hellitd H o1 7

(1) FaEH U (2) =T
(3 e e (4) e AEl

[Question ID = 10641][Question Description = Q23_History_SHAAN_24NOV21_51_5Shift1]
1. 1 [Optien ID = 12561]
2. 2 [Optien ID = 12562]
3. 3 [Option ID = 12563]
4. 4 [Option ID = 12564]

Correct Answer -
e 1 [Option ID = 12561]
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24) Which of the following historians claimed that Akbar's empire in 1592 was said to contain as

many as 120 cities and 3.200 towns?

(1) Nizamuddin Ahmad (2) Badaum
{(3) Abul Fazl (4) Faizi

Fretferiga A g Fra sfoamr & AR 1592 1 39K 5 TIHE § &9 120 TR 31 3,200 55 947

1)  FEmER ey (2) =
(3)  IFH B CYI i

[Question ID = 10642][Question Description = Q24_History_SHAAN_24NOV21_51_5Shift1]
1. 1 [Option ID = 12565]

2. 2 [Option ID = 12566]

3. 3 [Option ID = 12567)

4. 4 [Option ID = 12568]

Correct Answer ;-

e 1 [Option ID = 12565]

The earliest extant examples of the Mughal baluster columns are found solely in which of the

following Mughal emperor’s fortress palaces?

(1) Akbar (2) Jahangir
(3) Shahjahan (4) Aurangazeb

T o Wl (baluster columns) & THAT @y $ 0 F=figa & ¥ B g aemE +

fererT-ngel | e 27
(1) 3@ (2) EFR
(3)  wmESwE (@) sTTE

[Question ID = 10643][Question Description = Q25_History_SHAAN_24NOV21_51_5Shift1]

1. 1 [Option ID = 12569]

2. 2 [Optien ID = 12570]

3. 3 [Optien ID = 12571]

4. 4 [Option ID = 12572

Correct Answer :-

e 1 [Option ID = 12569]
Who among the following travellers visited a “Hospital of Birds™ at Cambay in 1623-24, where
he saw some lame, sick and mateless birds and some tiny orphan mice. He writes, “A
venerable old man with a white beard was keeping them mn a box amongst cotton, with his
spectacles on his nose, giving them milk to eat with a bird's feather, because they were so
little that as vet they could eat nothing else. and as he told us. he intended when they are

grown up to let them go free whither they please”.

(1) Ralph Fitch (2) John Mildenhall

(3) Pietro Della Valle (4) Sebastian Manrque

1623-24 1 =1 0 O {5 anh 7 F 4 ofig) = e <@, el B9 oS, SR, e e e e
AR T BRI AN ¢ <W| 3G forg, Tk gy TS ST 9l 958 961 $9W S Udl ¥ w2 % o
4 T @I A1 SO A W U e g A1 S o tufgan & dwi Y werar @ 4 oie =g w g e 6
FIEIT G 0 R A onft 38 IR 4 76 o 7o 98w wwa o) oI S 6 s e, 3EE S0 9

o1 7 991 TH W 98 3= T 7R oM, 9 d 1 =0 a8 9, ¢
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(1)  Tew o= (2) i e
(3 U 2en 99 (4) Telfea i

[Question ID = 10644][Question Description = Q26_History_SHAAN_24NOV21_51_5hift1]
. 1 [Option ID = 12573]
. 2 [Option ID = 12574]
. 3 [Option ID = 12575]
. 4 [Option ID = 12576]

Y S PTR N —

Correct Answer :-
& 1 [Option ID = 12573]
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27)  Which among the following Persian painters of father-son duo joined Humayun's court?

(1) Mir Musavvir and Sayyid Ali
(2) Dust Muhammad and Sayyid Ali
(3) Abdus Samad and Sayyid Al
(4) M Musavvir and Abdus Samad

PR St feeeert 6 O fa-g =71 =siF-T1 g 3 % St o o1

(1) i gEfer 3k dg ol (2) =% GEoiE Wil d=ag Sl
(3) g WHE 3N F=ag et (4) it gET=R 3R 3TegE THE

[Question ID = 10645][Question Description = Q27_History_SHAAN_24NOV21_S1_5Shift1]
1. 1 [Option ID = 12577]
2. 2 [Option ID = 12578
3. 3 [Option ID = 12579
4. 4 [Optien ID = 12580

28
‘ Who founded the autonomous kingdom of Hyderabad in 17247
(@b Mubriz Khan (2) Asafdha
(3) Aliwardi Khan (4) Shaukat Jung

1724 © 2202 o TAECETE U5 1 T e 7

(1) gefE @ (2) TF
3)  witEE @ (4) i ST

[Question ID = 10646][Question Description = Q28_History_SHAAN_24NOV21_S1_5Shift1]
1. 1 [Option ID = 12581]
2. 2 [Option ID = 12582
3. 3 [Option ID = 12583]
4. 4 [Option ID = 12584
Correct Answer ;-

e 1 [Opticn ID = 12581]

“At some times and places there will be no roads, docks, harbours, canals, works of 1rrigation,

hospitals. schools, colleges, printing presses, unless the government establishes them”.

The above gquotation from John Stuart Mill's Political Economy refers to which policy adopted

by the Company government?
(1) Laissez faire (2) Interventionism
(3) Mercantilism (4) Indifferentism

‘Tl Wy 3R WE W 99 9% Ugh, e, ag0E, T, e 6 syawm, ora, T, i 31

BUEE T2l 2, 6 9% TR ITH I Tal el |

et A O D A e e e e T e e et e B A B A S0
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=Troa \\3‘-"'1- 1"3% 1 i) LR YA LSy Lo | -g_l"'".'l'l'll R A B ] r _1{: ‘-"'Q"\_r TAFTETAN RN TIR] Y ai'\l "'-""i_"'l"'\'-‘" r-'{ 7% TERTRT AR WY Ql LR}
HAT 27

(1) o =K (S8 1) (2) FEEYER

(3) INTag (4) SeEEaE

[Question ID = 10647][Question Description = Q29_History_SHAAN_24NOV21_51_5Shift1]
1. 1 [Option ID = 12585]
2. 2 [Option ID = 12586
3. 3 [Optien ID = 12587]
4. 4 [Option ID = 12588

Correct Answer :-
e 1 [Option ID = 12585]

Which one of the following statements 1s not correct?

(1) Colonial sources cited the Rebellion of 1857 as ‘sepoy mutiny’

(2) Syed Ahmad Khan focussed on the loyalty of Muslims towards British rulers in the
1857 Rebellion

(3) The English ‘Free Traders’ supported the East India Company's monopoly in India
and condemned the Indian chieftains for rebelling against the company

(4) R. C. Majumdar refused to accept the 1857 Rebellion as the Tirst War of

Independence’
ﬁmﬁﬁqﬁqmwuﬁﬁ%?
(1)  sifRbe gia 3 1857 % fagie = ‘o f wmEd’ & =9 8 B
(2)  T=e arene @M F 1857  Tagrg 0 f@few war = wfa goemmi =i fer # a2

(8) S Hi 7sE A URA § R 3SW HUA % THENUHR w GHIA TEA ot e % faers wmad
Fi arel] 2gt Femedl & Tansti # sTerer 9

(@ o ot wemER 1857 % fgie w1 aend i waell @ AR ¥ TR w B

[Question ID = 10648][Question Description = Q30_History_SHAAN_24NOV21_S1_Shift1]
. 1 [Option ID = 12589]
2 [Option ID = 12590]
3 [Option ID = 12591]
. 4 [Option ID = 125%2]

N SYE R N Ry

Correct Answer :-
e« 1 [Option ID = 12589]

31 Digambar Biswas and Bishnu Biswas led which of the following movements in 1859-60?
(1) Munda Rebellion (2) Kuka Revolt
(3) Indigo Revolt (4) Faraizi Movement

1859-60 W famrer forama 2R forow feramm ¥ e ovirerm = e fomam an ?

(1) b fage @ s
3 = fgr (4) TESH MEEH

[Question ID = 10649][Question Description = Q31_History_SHAAN_24NOV21_S1_Shift1]
. 1 [Option ID = 12593]
2 [Option ID = 12594]
. 3 [Option ID = 12595]
. 4 [Option ID = 125%6]

I S U N QY

Correct Answer :-
a 1 [Option ID = 12593]

32)

On 27t December 1891, which socio-religious reform movement met for its first general
gathering 1n Qadiyan, Punjab?

(1)  Arya Samaj (2) The Ahmadiyas
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(3) The Nirankaris {(4) The Dev Samaj

27 TEEEX 1891 =1 U9 3 FiGAH 0 Ry qrAfores- g gurad el 6 uge o1 o g2 v

(1)  om e (2) arEnfem
(3)  fiemr (4) <F ga=

[Question ID = 10650][Question Description = Q32_History_SHAAN_24NOV21_S1_5Shift1]
1. 1 [Option ID = 12597]
2. 2 [Option ID = 12598
3. 3 [Option ID = 12599
4. 4 [Option ID = 12600]

Carrect Answer :-
& 1 [Option ID = 12597]

33)
Which one of the following statements in not true?

(1) Annie Besant of the Madras Theosophical society asserted that in ancient times
Hindu women were educated and moved freely in society
(2) The Arva Samaj of North India strongly supported the cause of female education

(3) The Hunter Commission Report of 1882 recommeded more liberal grants-in-aid for
girls’ schools than for boys’ and special scholarships and prizes for girls

(4) Dhondo Keshav Karve was against the education of high-caste Hindu widows

fFrafafiga 4 & = @1 o wd) 7 87
(1) "z Pemfera g 6 o S92 = w5 o 5 aeR w8 R ke fifa of o e
T IS W A A

(2) =R uwa 4 Tt o maihemt 3 = fen = strer wude

(3) 1882 H o wiww TaiE A wiiorem fEmerl & T werpl % oo 9 1Y 3K Ser o
IFEA & a0 SENST + e e seet @ ween 2 S i A

(4) =i wwa wd 3= av i fag freenert i e = faars 9)

[Question ID = 10651][Question Description = Q33_History_SHAAN_24NOV21_S1_Shift1]
1. 1 [Option ID = 12601]
2. 2 [Option ID = 12602]
3. 3 [Option ID = 12603]
4. 4 [Option ID = 12604]

Carrect Answer :-
& 1 [Option ID = 12601]

) Which female social reformer wrote the short stories — Sultana’s Dream (1905) and

Avarodhbasini (1929), criticizing the custom of purdah among Muslims?

1 Katherine Mayo

(2) Mrs. Abbas Tyabji

(3) Begam Jahan Ara Shah Nawaz
(4) Begam Rokeya Sakhawat Hossain

frfafigs & o e afeen awe gaws 3 geamn w0 @oar (1905) it sERgenfat (1929) mw &g
Fgria fordlf, T waeml 0 vafer wel war =i stere 6t 57

() oA @) i srar de
(3) WP SR S W a9 (4) ST T TETEd 5
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[Question ID = 10652][Question Description = Q34_History_SHAAN_24NOV21_S1_Shift1]
1. 1 [Optien ID = 12605]

2. 2 [Option ID = 12606]

3. 3 [Option ID = 12607]

4. 4 [Option ID = 12608]

Carrect Answer :-

e 1 [Option ID = 12605]

35)
Who was the first elected president of the All India Depressed Classes Association formed 1n
19267
(1) Dr. B. R. Ambedkar (2) Rao Bahaddur M. C. Rajah
(3) Bhaskarrao Jadhav (4) dJagjivan Ram

1926 # i3 “siie e feves aemew vaifimea’ % vom fatfua swaa i 97
(1) 3. . W T (2) TF TR . W, T

(8)  HIERTE ATHE 4) “eitEa T

[Question ID = 10653][Question Description = Q35_History_SHAAN_24NOV21_51_5hift1]
1. 1 [Option ID = 12609]

2. 2 [Option ID = 12610]

3. 3 [Option ID = 12611]

4. 4 [Option ID = 12612]

Carrect Answer ;-

» 1 [Option ID = 12609]

36)
Who was the first president of the All India Trade Union Congress founded on 31 August
19207
(1) Lala Lajpat Rai (2) Diwan Chaman Lal
(3) Joseph Baptista (49) N.M. Joshi

31 3T 1920 i e 31fet e g3 gfmm Sma & wom srea w8 97

(1) =N aeua I (2) A = o
(3)  =EE sulEEn (4) vH. uE. St

[Question ID = 10654][Question Description = Q36_History_SHAAN_24NOV21_51_5Shift1]
1. 1 [Option ID = 12613]

2. 2 [Option ID = 12614]

3. 3 [Option ID = 12615]

4. 4 [Option ID = 12616]

Correct Answer ;-

e 1 [Option ID = 12613]

Which Sikh patriot was tried and executed by the British Government in 1940 for the murder
of Sir Michael O’'Dwyer, who was mnvolved in the infamous Jalhinawala Bagh massacre?

(1) Harbans Singh Attariawala (2) Baba Santa Singh
(3) Sardar Udham Singh () Manjt Singh Kashid

FEAT SfeTaTell 57 SeAFRS § WMiHe T A15whel 31 SR FI Ted B % fou 1940 o fafem awmr g
5o firm oo W g9 Ter S Bl & 187

(1) ==m T e (2) = T fiw
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(3) WER FuW g (4) Hsia fas =i

[Question ID = 10655][Question Description = Q37_History_SHAAN_24NOV21_51_5Shift1]
1. 1 [Option ID = 12617]

2. 2 [Option ID = 12618]

3. 3 [Option ID = 12619]

4. 4 [Option ID = 12620]

Correct Answer ;-

e 1 [Option ID = 12617]

“Our general policy is to avoid entanglement in power politics and not to join any group of
powers as against any other group. The two leading groups today are the Russian Bloc and
the Anglo-American Bloc. We must be friendly to both and yet not join either”.

The above words constitute the central idea of which policy?

(1) Non-alignment (2) Baghdad Pact

(3) Afro-Asian conference of 1955 (4) Panchsheel

‘ot g fifa, wie A ot F T a8 TR oflt o 2 % faere wiks F Rl o e % T 5
TS Fl 2| o T 93 T 5 AR AT - S 3| B8 g § g Fed W ARy 3

et 31 il T8l 2 =i | 3w wse TR fifa s e avy e i 87
(1)  Te-Fram (2) FER augial
(8) 1955 =1 EIhI-TREE gied (4) o=efi

[Question ID = 10656][Question Description = Q38_History_SHAAN_24NOV21_51_5Shift1]
1. 1 [Option ID = 12621]

2. 2 [Option ID = 12622

3. 3 [Option ID = 12623]

4. 4 [Option ID = 12624

Correct Answer :-

e 1 [Option ID = 12621]

Which one of the following statements is true about the stand of the communist party of India
during the India-China war of 19627

(1) One wing of the party supported the Indian Government against the Chinese attack
2) The Communist Party (Marxist) wing of the party supported the stand of China
(3) One wing of the party criticized China as a bourgeois state

4) The Communist Party (Marxist) wing joined hands with the revolutionary elements

across the globe

1962 % WRA-=A 7g & A # AR Ffee i S % ad § Pl 3 9 S s wd

(1) @ Fi v wmEn A o % feg 9 TR # gagA e
(2) ey T (wedard)) F < s wmeE e

(3)  urdl Fi wh e 5 <A i srreA=ET wE gejen sy % = 4 fi)

(4  =egire TE f (FEEard) s 3 3R R wiawRl aol | Y e

[Question ID = 10657][Question Description = Q39_History_SHAAN_24NOV21_51_5Shift1]
1. 1 [Optien ID = 12625]
2. 2 [Option ID = 12626]

| 3. 3 [Option ID = 12627]
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| 4. 4 [Option ID = 12628]

Carrect Answer :-
s 1 [Option ID = 12625]

4
%) Who wrote the dictum: “all hastory 1s the history of 1deas™.
@)) G. R. Elton (2) R.G. Collingwood
(3) G. M., Trevelyan (4) Leovon Ranke

Iz oA o foran 2 ¢ "qu sl ot = sfmm 277

1) A wm vees (2) @R S hiferTgg
(8) . mn. Fafemm (4) Foram o

[Question ID = 10658][Question Description = Q40_History_SHAAN_24NOV21_S51_Shift1]
1. 1 [Optien ID = 12629]

2. 2 [Option ID = 12630]

3. 3 [Option ID = 12631]

4. 4 [Option ID = 12632]

Correct Answer ;-

e 1 [Option ID = 12629]

Which of the following suttas are associated with the Dighanikaya?

(A) Brahmajala Sutta

{B) Mahapadana Sutta

(C)  Mahaparinibbana Sutta
{D) Samannaphala Sutta

Choose the correct answer from the options given below :

(1) {(A) and (B) only

(2) {A) and (D) only

3 A, (B) and (D) only
4 A).®B.C)D

Frfafen & @ #F-0 gu <aten o wafia 37

(&)  SEEegd

(B)  AEMEgEYd

() wEmiisag
(D) AT

frt T T foreat & wdt s = = il
(1)  Faa (A) 51T (B)

2y A (A) 3R D)

(3) w4 (A). B) ¥R (D)

@ (A.® © D

[Question ID = 10659][Question Description = Q41_History_SHAAN_24NOV21_S1_Shift1]
1. 1 [Optien ID = 12633]

2. 2 [Option ID = 12634]

3. 3 [Option ID = 12635]

4. 4 [Option ID = 12636]

Correct Answer ;-

e 1 [Option ID = 12633]

42) Which of the following are included among the seven limbs of ancient Indian State?
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(A) Svamin
(B) Amatya
(C) Janapada

(D) Yuvaraja

Choose the correct answer from the options given below :

(1) (A) and (B) only
(2)  (B)and (C) only
(3) (A (B) and (C) only

@ @A).B). ). D

Frefetaa © & Fi7 s 9w Tsa % o oM 8wt 27

@)
®) o
(€) =g

®) T

Hre feu o fomedl A © w1 = 9= il
1) e (A) 3R (B)

(2) I (A) IR (C)

(8) %= (A). (B) ¥R (C)

(D A, (B). (C). (D)
[Question ID = 10660][Question Description = Q42_History_SHAAN_24NOV21_51_5Shift1]
1. 1 [Option ID = 12637]
2. 2 [Option ID = 12638]

3, 3 [Option ID = 12639]
4, 4 [Option ID = 12640]

Correct Answer :-
a 1 [Option ID = 12637]

43) Which of the following officers were known for water arrangement of their provinces?

(A) Suvya

(B)  Pushyagupta
(C) Tushaspa
(D)  Suwisakha

Choose the correct answer from the options given below :

(1) (A) and (B) only
(2) (A) and (C) only
(@ (A B)and (C) only
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frfafaa © & #9-9 e ome wia # so-=gern % faw s 9w 87

@& 7=

B) TM

© g

®) gl

Hr fow o faweat 9 oft I W T Rl
(1) = (A) 3R (B)

@  FE (@A) IR (O)

(3) % (A), B) 3 (C)

@ Q. ®.©). D)

[Question ID = 10661][Question Description = Q43_History_SHAAN_24NOV21_51_5hift1]

L3}

LA LD L) L)

1. 1 [Option ID = 12641]
2. 2 [Option ID = 12642]
3. 3 [Option ID = 12643]
4, 4 [Option ID = 12644]

Correct Answer :-
a 1 [Option ID = 12641]

44)

T ¥ FH T I aH H SR gd 27

Y
(B)
©

(D)

4 fEe v faweat O g8 3 #1999 Fiee

Fa Y

Which of the following texts allow divorce?

(4)
®)
(®)
(D)

Choose the correct answer from the options given below :

(D
2
(3
D

Narada Smriti
Manava Dharmasastra
Arthasastra

Yajnavalkya Smriti

(D) only
(A) and (C) only
(A) and (D) only

(C) only

e Ffd
T aHTE

8

FHAIEH

ATACH T

-

SR
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o e )
(2) = (4) 3R (C)
(3) F=d () IR (D)
4) @ (©)

[Question ID = 10662][Question Description = Q44_History_SHAAN_24NOV21_51_5Shift1]
1. 1 [Option ID = 12645]

2. 2 [Option ID = 12646]

3. 3 [Option ID = 12647]

4. 4 [Option ID = 12648]

Correct Answer ;-

e 1 [Option ID = 12645]

43)  Which of the following cave temples of Ellora are related to Brahmanical religion?

{A) Dhumera Lena
(B) Indra-babha
{C) Jagannatha Babha

(D) Ravana Ki Khai

Choose the correct answer from the options given below :
(1) (A) and (B) only
(2) (C) and (D) only
(3 (A and (D) only

(4) (A). (B) and (C) only

T % Frefeiga O ° HE U TH Al ST a9 9 weied B ¢

(&)  gEEw
B FE-awW

(©) =Y W

@) T E

e fou o freredt 4 w8 s W 9= fifsw
(1) 9 (A) 3R (B)
(2 %A (C) 3t (D)
3 = (A) 3k D)

4) a9 (A). (B) 3 (C)

[Question ID = 10663][Question Description = Q45_History_SHAAN_24NOV21_S1_Shift1]
1. 1 [Optien ID = 12649]

2. 2 [Option ID = 12650]

3. 3 [Option ID = 12651]

4. 4 [Option ID = 12652]

Correct Answer ;-

e 1 [Option ID = 1264%]

Which of the following dynasties traced its origin from Asura Naraka?
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Freferga & @ $7 ¥ TomEm w19 SH 3T T @ WSd 27

@A) 35w F 5

(B) T F U

(C) IS % AAEA

(D)  >T5H % 79

= f2u o Tt W wEl I % = AR
1) F=EE (A) IR (C)

@) a4 (B) IR (D)

(8) I (A) 3R (B)

4  Faa (D)

[Question ID = 10664][Question Description = Q46_History_SHAAN_24NOV21_S1_Shift1]

(&)
(B)

©)
D)

Choose the correct answer from the options given below :

(1)
(2
(3)
(4)

Bhanjas of Orissa
Palas of Bengal
Sailodbhavas of Orissa

Varmanas of Assam

(4) and (C) only
(B) and (D) only
(4) and (B) only
(D) only

1. 1 [Option ID = 12653]
2. 2 [Option ID = 12654]
3. 3 [Option ID = 12655]

4. 4 [Option ID = 12656

Correct Answer :-

& 1 [Option ID = 12653]

Which of the following texts were authored by the Kashmir poet Kshemendra?

(A)
(B)
(©)
(D)

Choose the correct answer from the options given below :

(1)
2)
(3)
(4)

Kuttanimata
Kalavilasa
Prabodhachandrodava

Samayamatrika

(A) and (B) only
(B) and (D) only
(A). (B) and (C) only

(B). (C) and (D) only
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Freaforfioa 5 8 F9-8 7= F99i0 =i &9 g ©®e 37
() Tl

(B)  Fertaen®

(C) TR

(D) HHIHIGS]

3 o o famedt © 9 SO F1 99 Hif
(1)  a= (4) 3 (B)

(2) aEd (B) 3 (D)

(3 = (A). (B) 3R (C)

(4) %A (B). (C) 3 (D)

[Question ID = 10665][Question Description = Q47_History_SHAAN_24NOV21_51_Shift1]
1. 1 [Option ID = 12657]

2. 2 [Option ID = 12658]

3. 3 [Option ID = 12659]

4. 4 [Option ID = 12660]

Correct Answer ;-

e 1 [Option ID = 12657]

"8} Which of the following Sailendra rulers are known to have had friendly relations with their
contemporary Indian kings?
(A) Samaragravira
(B) Balaputradeva
(C) Chudamanivarman
(D)  Sn-Marawnjayottungavarman
Choose the correct answer from the options given below :
(1) (B) and (D) only
(2) (D) and (A) only
(3) (A and (B) only
(40 (B), (C) and (D) only

Pergaeie Fratafaa Temetl § ¥ Brrk o1 e ST Tenet %y il ey o7

Ll

(A) HWEER

-

(B) wIYARA

(© =gl aE

{D) fa ﬁ ™o [

= fou o fomeut § w8 s = == it

Fan i B R T Y
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T —
2 %= (D) R (A)
3) A (A) 3 (B)
@ %= (B), (O) (D)

[Question ID = 10666][Question Description = Q48_History SHAAN_24NOV21_S1_5Shift1]
1. 1 [Option ID = 12661]

2. 2 [Option ID = 12662]

3. 3 [Option ID = 12663]

4, 4 [Option ID = 126
Correct Answer ;-

& 1 [Opticn ID = 12661]

49) Raziya's accession to the throne of Delhi was marked by which of the following features?

(A)  The people of Delhi had for the first time in the history of the Delli Sultanate. decided
a succession issue on their own initiative. Thereafter the support of the Delhi
population constituted the main source of Raziya's strength

(B) She gave her accession the form of a contract when she asked people of depose her if
she did not fulfil their expectations

(C) It shows the robustness of the Turkish mind 1n accepting a woman as ruler

Choose the correct answer from the options given below :

(1)  (A)and (B) only
(2) (B) and (C) only
(3) {A) and (C) only
(4) (A, B)and (C)

& it 7 T F veaREw f Pt 8§ s e off 7

(A) T = @ 3 g goaa & siiem W usell oW S T A 9B W STOUeR % T8 W
| 3T =g § gt =il a1 = A e a6 96T ' =l

(B) IwA A @ W T AR 95w uii B qu AE B 2 A S8 T U AR 3, 39 TR S8
TARIEY i T TiaaT 1 &9 57|

(C) T8 U Ao =l AEH 5 T4 5 THHR B 0 qohi AT i Tl =l gor 2

= Fr e el 9 8 S W = il
(1)  has (A) 30K (B)

2) %= (B) ¥R (C)

B  Fa (4) 3R (0)

@ @) ® 3R (E©

[Question ID = 10667][Question Description = Q49_History_SHAAN_24NOV21_51_5hift1]
1. 1 [Option ID = 12665]
2. 2 [Option ID = 12666]
3. 3 [Option ID = 12667]
4. 4 [Option ID = 12668)

Carrect Answer :-
& 1 [Option ID = 12665]

50
) Which of the following statements regarding Balban's theory of kingship are correct?

(A) Kingship 1s the vice-regency of God on earth. The king 1s the shadow of God
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®)
©)

D)

External dignity and prestige were not considered as essential for Kingship

A distinction between the high-born and the low-born was constantly emphasized by
Balban

Balban believed that Persian customs and ways of life are not necessary to emulate

Choose the correct answer from the option given below:

(1)
@
(3
@

(A). (B) and (C) only
(B) and (D) only
(B). (C) and (D) only
(A) and (C) only

FoTH % ToTcd fﬁ@a%mﬁﬁﬁmﬁr@aﬁﬁﬁqﬁw@%?

(&)
(B)
(©)

(D)

Trea gzt W syar v whafafee 21 e Sy A afeseern 2

aIEl AE-aaier 3 wiaer ® e % fow sAFas 22 gumn s o
e A 39 Pl 3R T e | UgEm o %k B a-aR @ifed e 2

e <1 o A 76 Soe Tt qon Sfem delt % e i sty T8 o)

< fou v el I HeE SUAE TR W O A

@
2)
(3)
(4

Fae (A), (B) 31 (C)
Fael (B) 3 (D)
Faw (B), (C) 3R (D)
Fae (A) 3 (O)

[Question ID = 10668][Question Description = Q50_History SHAAN_24NOV21_S1_5Shift1]
1. 1 [Option ID = 12669]
2. 2 [Option ID = 12670
3. 3 [Option ID = 12671]

4. 4 [Option ID = 12672

Correct Answer :-

e 1 [Option ID = 12669]

Which of the following statements are correct about the balutedars of Deccan?

(A) Balutedars were village servants and artisans

(B) Watandar balutedar had a permanent right to work and receive remunerations in the

village

(C)  Upari balutedars had no permanent rights in the village and were migratary

Choose the correct answer from the options given below :

(1)
(2)
(3)
@

(A) and (B) only
(B) and (C) only
(A) and (C) only

(&), (B) and (C)

prepp
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I % Sodei % AN ¥ FefatEd 8 ¥ B ¥ F Tl 1

(A) e TmHaH AR ReTsr 9

(B) dER SedaR % T A § FE FA SR MRAES IH FH F e sfwn o

(C)  3aR aeaerl o e A Turll sAfeem T8 o 3R 3 vawd 9)

H= fow u fomreal 7 wem Suges 39T 1 = i
(1)  ¥a= (A) 3 (B)

2 = B) 3 (C)

3 ¥4 (A) I (C)

@ @A ® O

[Question ID = 10669][Question Description = Q51_History_SHAAN_24NOV21_51_5Shift1]
1. 1 [Option ID = 12673]

2. 2 [Option ID = 12674]

3. 3 [Option ID = 12675]

4. 4 [Option ID = 12676]

Correct Answer ;-

e 1 [Option ID = 12673]

52)  Which of the following statement/s is/are correct?

(A) In the Tamil region right-hand and left hand groups were known as idangal and
valangal respectively

(B) Both the right hand and left-hand groups included non-peasant castes such as those of
artisans as well as higher ranking castes

(C) Both the right-hand and left-hand groups usually excluded the outcastes. notably the
Paraivas

Choose the correct answer from the options given below :

(I (A)only

(2)  (A) and (B) only
(3 (A) and (C) only
(40  (B)and (C)only

treafafea & @ $9 /3 T8 T8 2/37

(A)  affrer & A sfie-am (T2 2) oK AT (S %) Ul B wue: $ETE i FoTE b am o
ST ST o)

B) clmi-zwa oK am—gwa oA TE A g st S B e stk S st i off)

(€)  =favi-ze 3R am-gw <A1 TR 3 SYTEl, WA B9 U UgEAl il AU YR ¥ S |

Hi= 13U o ferpeat § wEr ST = wEA i
(1) == (A)

(2) %= (A) IR (B)

(3) = (A) 3 (O)

/A T (P BT A0
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[Question ID = 10670][Question Description = Q52_History_SHAAN_24NOV21_51_5Shift1]
1. 1 [Optien ID = 12677]
2. 2 [Optien ID = 12678]
3. 3 [Optien ID = 12679]
4. 4 [Option ID = 12680]

Correct Answer :-
e 1 [Option ID = 12677]

Regarding Shershah Suri, which of the following statements are correct?

(A)

(B)
(©)

(D)

To promote trade and commerce, Shereshah struck fine coins of silver and copper of

uniform standards in place of the debased coins of mixed metals of earher times
He also made some effort to standardize weights and measures

In his empire, goods paid customs duty only two tlmes — at the place of entry and at
the time of sale

He built a number of sarais which exclusively served as the resting places for the
travellers only

Choose the most appropriate answer from the options given below :

)
2
(3
(4

(&), (C) and (D) only
(B) and (D) only
(C) and (D) only
(4). (B) and (C) only

Sz ft  geiy A Prefidaa § 3 w6 @ wo ah §7

(&)

(B
(©)
(D)

T 31 Ao 51 9@ 34 * e IRag 3 v gdadi wia @ P ag & getea s
SATE T SR a6 % 5 999 % AU & o
3TH Ag-diel % AR % ot F2 e T

3% FEd ¥ A1 W kb 37 AR R 3 B O - U W6 % e W oiv gan ek % wmE

ITF o OO SETE S T WA % ST % fere oy

= fau v fmeut H ToE S9ET ST W T i

(1)
@)
(3)
(4)

Hae (A). (C) 3R (D)

Faa (B) 3t (D)

aw (C) ¥R (D)

Fad (A), (B) R (C)

[Question ID = 10671][Question Description = Q53_History_SHAAN_24NOV21_51_5hift1]
1. 1 [Option ID = 12681]
2. 2 [Option ID = 12682]
3. 3 [Option ID = 12683]

4. 4 [Option ID = 12684]

Carrect Answer :-

1 [Option ID = 12681]

(4)
(B)

With regard to the Mughal finance system which of the following statements are correct?

There was a well-developed system of finance and credit in Mughal India

The use of hundis or bills of exchange was widespread

prepp
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(C)  There was no insurance system hence risks of loss 1n transit were very high

(D)  Transport across land was itself costlier, it was more vulnerable to the exactions of
chiefs and rebels

Choose the most appropriate answer from the options given below :

(L) (A). (B) and (D) only
(2 (&), (C) and (D) only
(3)  (B)and (C) only
(4 (C) and (D) only

w%ﬁuﬂnﬁﬁ%dﬁﬁﬁﬁwﬁﬁaﬁqﬁamﬁ%?

(A) T 9RaA § U faia fasia ok g yonett dieg o

(B) e =1y sgyEraa o

(©) = A FE onell T o, sute aftereT ¥ GRE amE i afd # Siem sgg s s T Al

(D) E GOE ST 29 H WEt o, S T SXeRl ST S whl A ged # S 3T JnEE =
EEiR-cil

5 fou o faweut § o= SO w1 W= Fie
1) A (A). (B) ¥R (D)

(2) a4 (A), (C) AR (D)

(3)  Faw (B) 3 (C)

(4)  ad (C) 31t (D)
[Question ID = 10672][Question Description = Q54_History_SHAAN_24NOV21_S1_Shift1]
1. 1 [Option ID = 12685]
2. 2 [Option ID = 12686]
3. 3 [Option ID = 12687]
4, 4 [Option ID = 12688]
Correct Answer :-

e« 1 [Option ID = 12685]

Which of the following statements about Chokhamela are correct?

(A) Chokhamela was a Varkari Saint
(B)  His poems express devotion for Vitthal

(C)  As a great devotee of Vitthala, after his death his samadh: was built inside the
Vitthala temple at Pandharpur

Choose the correct answer from the options given below :

(1) (B) and (C) only
(2) (A) and (B) only
(3) (A) and (C) only

(9 (A). (B)and (C)
TETE % o) § Eiad § ¥ B W FYE w6 8 7

(A)  =iEmen U Tl Hd %1
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(B) v whraet § fager % iy uhs = 6w )
(C) gt & wer U B+ % ol SR Teg o &g <Akl w1 fmio de foua fage Afe &
ST o )
Frt faw e ferre F W SR = A
(D = B) IR (O
2 ¥ A) 3 B)
@  F= (A) I (©)
@  A).® IO

[Question ID = 10673][Question Description = Q55_History SHAAN_24NOV21_S1_5Shift1]
1. 1 [Option ID = 12689]
2. 2 [Option ID = 12690
3. 3 [Option ID = 12691]

4. 4 [Option ID = 12692

Correct Answer :-

& 1 [Option ID = 12689]

>6) During Jahangir's period certain painters developed recognizable areas of expertise in the

field of Mughal paintings. In this regard which of the following statements are correct?
(A)  Mansur was expert in painting animals and flowers
(B) Abul Hasan was a portraitist
(C) Govardhan was an expert painter of painting holymen, musicians, and eccentrics
Choose the most appropriate answer from the options given below :
oy (B) and (C) only
2 (A) and (B) only
(3) {A) and (C) only
4 A). B and C)

TRPTR % W W P e 3 g R & am i e e F P i =t Of) 5o e

o ffeafag @ o == o =9 agl 27

Q) TR EESR AR B % A s 9 e

B) 9A T OF B R

(C)  TEEA TTg-Tal, Sas 3R B T s § Fger o)

it feu o fempeat O wed 3w SO w1 A A

1)
2
(3
@

e (B) 31 (C)
Had (A) 3R (B)
Fad (A) 3 (C)

(A). (B) 31 (C)
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[Question ID = 10674][Question Description = Q56_History_SHAAN_24NOV21_51_5Shift1]
1. 1 [Optien ID = 12693]
2. 2 [Optien ID = 12694]
3. 3 [Optien ID = 12695]
4. 4 [Option ID = 12696]

Correct Answer ;-
e 1 [Option ID = 12693]

57)  PFrom among the following statements regarding economic critique of colonialism. which ones

are correct?

(A)

(B}

(C)

(D)

The British administrators attributed the rapid construction of railroads and the

growth of India’s foreign trade as a proof of India’s prosperity

For nationalists. a negative 1mpact on indigenous industries. foreign trade and

railways represented India’s underdevelopment of economy

The nationalists emphasized that while expenditure served British imperal needs, 1t

also brought consequent prosperity to Indian people

Not until 1905, did the drain theory form part of the Indian National Congress agenda

Choose the most appropriate answer from the options given below :

(1)
(2)
(3)
(4)

(A) and (B) only
(B) (C) and (D} only
(B) and (D) only
(A) and (D) only

FaiEwErE i oritls oreie & ey ¥ T A O S O e g B 7

(4

(B)

(®)

(D)

Tt el 4 TS =T % ao i @ik e % fR s A wre B wgfy % e oww |
wga fem)

Tgated % o O sam, Rl SR R T W TR U9 YRR AR %
STeataerTa = gora 2|

gl 4 3w qem W SR fen R oem Blw awesw A smavesad, gl @ o, i
TR F7 R @R H Tig o @ S

1905 % v A (37 3W) 1 fagia A Tome #hm % FEm9 1 T T6 o0 om

Hr for e fomreal # Fa@ SUIH ST W 99 AT

()
(2)
(3
@

Fad (A) 3 (B)
@ (B), (C) %R (D)
+as (B) 3l (D)
w4 (4) 3 (D)

[Question ID = 10675%][Question Description = Q57_History_SHAAN_24NOV21_51_5hift1]
1. 1 [Option ID = 12697]
2. 2 [Option ID = 12698]
3, 3 [Option ID = 12699]

4. 4 [Option ID = 12700]

Carrect Answer :-

s 1 [Option ID = 12697]

58)

Which of the following combinations of Indian revolutionaries abroad and their newspaper

not correct?

(A)  Tarak Nath Das — Circular-e-Azad:

(B) Ramnath Puri — Free Hindustan

(C) Shvamj Krishna Verma — Indian Sociologist

(D)  Indubhushan Dey Mazumdar — Gaelic American

prepp

Your Personal Exams Guide



www.prepp.in .repp

Your Personal Exams Guide

Choose the most appropriate answer from the options given below :
(1) (A) and (D) only

(2)  (B). (C) and (D) only

(3) (C) and (D) only

4 (@), (B) and (D) only

fadw W s wifamie 31t 29 Tr=ras < Ferfafas 8 O % 9 39 od 1@ 87

(A) T T 6 — FHor-U-Tame]

B) Y g - i g

(© Tl T T - 3 At
D) IV S A9HER - e SR

= fau mu et § of sw %1 = Al
1) FE (A) 3 D)
(2 F= (B), (C) 3R (D)
3  Faw (C) 3 (D)
4 FEE (A), B) (D)
[Question ID = 10676][Question Description = Q58_History_SHAAN_24NOV21_51_5Shift1]
1. 1 [Optien ID = 12701]
2. 2 [Optien ID = 12702]
3. 3 [Optien ID = 12703]
4. 4 [Option ID = 12704]
. Eorrect hnswer —
e 1 [Option ID = 12701]

Which of the following statements are true about colonial cities?

(A) Delhi, Agra and Lahore lost much of their older glory
(B) Dacca. Murshidabad and Patna came into prominence in the British period
(C)  The Victoria Terminal station of Bombay was built after Mughal architectural style

(D)  According to C.A. Bayly, there was a significant expansion of small towns in the
mid-Ganga region from around the 1720s

Choose the most appropriate answer from the options given below :

(1) (B) and (C) only
(2) (A, (C) and (D) only
(3) (A) and (D) only

@  (B)and (D) only
SitafRfE T % e 1 i H W - A w8 27
(A) T, I TR AER J I s TR 3vE | )

(B) 3, giiemng o vz fafew = § mecaqel & T

(C) oo o e 2T ©oH e 9d el % 29T 9T S9TET TR 9T
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(D)

T, u, Sl % IR 1720 5 299 & a8 AT &9 H DI w1 il G 5o

Hra fou o fompeal d wa@ IUEER IO 1 TR I

(D
(2)
(3)
4

Fae (B) # (C)
Fa9 (A), (C) 3R (D)
Fac (A) 3T (D)

Faa (B) it (D)

[Question ID = 10677][Question Description = Q59 _History_SHAAN_24NOV21_S1_Shift1]
1. 1 [Option ID = 12705]
2. 2 [Option ID = 12706]
3. 3 [Option ID = 12707]
4. 4 [Option ID = 12708]

Correct Answer ;-
e 1 [Option ID = 12705]

0 From among the following statements regarding Munshi Premchand and his works, which of

them are correct?

(A) Premchand was among the first to portray the Dalits as independent and recognizable
characters both as part of the poor and with their own particular problems

(B) Premchand was extremely insensitive fo the political and social movements of his
times

(C) Premchand was concerned both about social evils and enslaved conditions of his
country

(D)  One of his (Premchand’s) last and most famous stories, Kafan (the Shroud), was first

published in Hindi in 1935 and later appeared in Urdu

Choose the correct answer from the option given below :

(1) (A) and (C) only
(2) (O and (D) only
(3  (A). (B) and (C) only
(4)  (B). (C)and (D) only

ot S SR IR il 6 SN W A TGy T w YRl ° " -0 wd 82

(A)

(B)
(<)
(D)

Zfordl i e S TEeW AT wE % w9 4 fatn w0 e geerd dewt § @ Svee uw 8, S
o # T g 9 ok s Rttt oeend )

T, ST A b A 3T e gl @l faese dEedE ¥

e, W SUsAl i 5w A end Y et - oFl % fom fafea 4

T ifam 3R o7c9a Uihg Fardl § W TF BT Too 1935 1 &l § vl 53 o ofR W §

=% A

99 U U SEe § 9E S T 99 Fie

(1)
(2)
(3
(4)

FAT (A) S (C)
%aet (C) 3R (D)
Faa (A), (B) 3 (C)
Faa (B). (C) 31 (D)
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[Question ID = 10678][Question Description = Q60_History_SHAAN_Z24NOV21_51_5hift1]
. 1 [Option ID = 12709]
. 2 [Option ID = 12710]
. 3 [Option ID =12711]
. 4 [Option ID = 12712]

I S PU R N

Correct Answer :-
a 1 [Option ID = 1270%]

Which of the following statements are correct about the linguistics veorganization of Indian

states?

(A) The Linguistic Provinces Commission of 1948 was headed by Sardar Vallabhbhai
Patel

(B) In 1952, Pott1 Sriramulu undertock a fast unto death over the demand for a separate
Andhra state

(C) The States Reorganization Act was passed by the Parhament as late as 1968

(D) In the case of Punjab, the Akali Dal and the Hindu right wing supported each other

(E)  Artecile 347 of the constitution protects the rights of lingusitic minorities

Choose the correct answer from the options given below:

1)
(2
(3
4

(A). (C) and (D) only
(C) and (E) only
(&), (B) and (D) only
(B) and (E) only

TCAPT T o AT TS Ay 6 AU BT T 57

(A) 1948 % WINTE YU M F TIE WER FGUEE 9o 9

B 1952 % Wi Jivmg 7 g iy = F o st seE fee

(C) 4| gl UsT i A =hrhl g # 1968 o wiftg foam )

(D) O & A W IR g SiR feg gferr et wmar 3 ww-gw # weeE e
(E) Tiagm = oT=as 347 WINE ST0U5GaH & TR i & Far 21

il fou o fomregt A w2t SO @ =EA Fifag

(1) = QA). (C) ¥k (D)

@  F (C) 3R (B)

3  F (A), B) AR (D)

@  wa (B) 3 (B)

[Question ID = 10679][Question Description = Q61_History_SHAAN_24NOV21_51_5hift1]
. 1 [Option ID = 12713]
. 2 [Option ID = 12714]
. 3 [Option ID = 12715)
. 4 [Option ID = 12716)

1
2
3
4

Carrect Answer :-
& 1 [Option ID = 12713]

Which of the following statements regarding Gandhi's concept of Satyvagraha are correct?

(A)

(B)

(G

For Gandhi. Satyvagraha aimed to peneirate the barriers of prejudice. 1ll-will,
dogmatism. self-righteousness and selfishness

Gandhi explained the effectiveness of Satvagraha in terms of the spiritual impact of
suffering love

The Satyagraha was considered by Gandhi as the ultimate tool of humiliating the
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opponent

(D)  Gandhi's political realism triumphed over his moral idealism and despite 1ts claims to
the contrary. his Satyagrahas were not always purely spiritual in nature

Choose the most appropriate answer from the options given below:

(1) (A) and (B) only

(2) (A (C) and (D) only
(3) (B (C) and (D) only
(4) (A). (B) and (D) only

M % TeAnTE i YT % Oed U 9 0 O % U BT el 8¢

(&)
(B)
(©)
(D)

wieh % fon weamrg 1 SeyE Jete, g, Saia, o9 S sttt i st B e ol

Wi 3 HoAWE = THE i HEHET U5 F ATEATcHS UNE + 9 § GHHE 8

el deamE w6 s R 0 smiHg = B ged 931 2hEm gaEd A)

Wt T USaE AT IAF AH S W A T IR 366 g9 F e I qoAwE 39
UG B9 U AEANE FHid 5 A8l T

= fou 7 ferreul | wew sugE T @ = it

(1)
(2)
(3)
(4

Had (A) AR (B)
FA (A). (C) IR (D)
3 (B). (C) ¥R (D)

Fad (4), (B) 3R (D)

[Question ID = 10680][Question Description = Q62_History_SHAAN_Z24NOV21_51_5hift1]
1. 1 [Option ID = 12717]
2. 2 [Option ID = 12718]
3, 3 [Option ID = 12719]
4, 4 [Option ID = 12720]

Correct Answer :-
a 1 [Option ID = 12717]

Regarding Maratha relations with Nizam ul mulk, which of the following statements are
correct?

(A)  As the Viceroy of the Deccan, from 1710 to 1715, Nizam ul mulk resisted the Maratha
claims for the Chauth and Sardeshmukhi of the Deccan.

(B)  After his successful rebellion against the Saiyids. Nizam ul mulk respected the

Imperial farman granting the Chauth and Sardeshmukhi of the Deccan to the
Marathas.

(C) IndJanuary 1721, he had his first meeting with Baji Rao.

(D)  The most important point of conflict between Marathas and Nizam ul Mulk was the
Karnataka.

Choose the most appropriate answer from the options given below:

(1)  (B), (C) and (D) only
(2) (A) and (B) only
(3)  (A). (B) and (C) only
4) (A) and (D) only

Frmger g o Al 6 Hog % we H B A ¥ i U e w4

(A)

1710 T 1715 % o= 296 = 99 = B 0 Fomya 9o 3 396 % g =iy I Temge

e (Y o
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(B)

(©)
(D)

b AL R e B R B AR Y B B R Bl 2 |

T ¥ flgeTs o e fagiE F A FeTd gow A 3Fe W Ay 3T SEugE] mEed #
o T FE R g )

SHadt 1721 ° =f w6 @ 3u4 sl gamE #i)
TSI S FEge 9o % w9 faaTe w1 e 921 Feh 947

+= fau T frpedl 4 @ @G SUgw I H T i

(L)
)
3
4

Fad (B), (C) 3 (D)
T (A) TR (B)
4 (A), (B) 3 (C)
et (A) 3 (D)

[Question ID = 10681][Question Description = Q63_History_SHAAN_Z24NOV21_51_5hift1]
1. 1 [Option ID = 12721]
2. 2 [Option ID = 12722]
3, 3 [Option ID = 12723]
4, 4 [Option ID = 12724]

Correct Answer :-
a 1 [Option ID = 12721]

Which of the following Sanskrit intellectuals of the seventeenth century had relations with
the Mughal emperor Shahjahan?

(A) Sant1 Chandra

(B)  Jagannath Panditraja

(C) Kawvindracarya Saraswati

(D) Padmasundra

Choose the most appropriate answer from the options given below :

(1) (A). (B} and (C) only
2) (B). (C) and (D) only
(3) (B) and (C) only
(4  (C)and (D) only

= o 9 el ot % Tor wogpa fagmt = werg v wneng wneser 9 At

(A)
(B)
(©)
(D)

M =F

Hra fom 7o forpedt ® ¥ HOW SUE SO BT =EA I ;

1)
2
(3)
(4

a4 (A), (B) 3T (C)
a9 (B), (C) 3R (D)
a9 (B) 3R (C)
#ad (C) 31 (D)

[Question ID = 10682][Question Description = Q64_History_SHAAN_24NOV21_S1_Shift1]
1. 1 [Option ID = 12725]
2. 2 [Option ID = 12726]
3. 3 [Option ID = 12727]
| 4. 4 [Option ID = 12728]
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Correct Answer ;-
e 1 [Option ID = 12725]

65)
Which of the following statements regarding interpretation in historical writing are correct?

(A) Interpretation as an essential step in historical method seems to lie beyond criticism
and exposition

(B) To know what a document means is as much a challenge to critical judgment as to
know when or by whom was it written, or whether one may trust it

(C)  The literary exposition of historical data is greatly conditioned by the interpretation
one places upon them

(D)  Factual interpretation deals with the facts of a document, not with the words

Choose the most appropriate answer from the options given below :

(I . (C) and (D) only
2  (A).(B)and (D) only
(3)  (B). (C) and (D) only
(4 (C) and (D) only

M e AN s el A M S FE A 5o el a7

() el gl % v T w9 1 S % T el 9U1 35 F R S uEaT 2

®) oo Fot * R g9z e el s o 2 B et cees = own o 2, S Ao e
ofi 2 o 30 =l iR Tege e otk 1 3@ W fawamg R =t g 2

(C) Ufteiers T3] 1 Wlelca®s JR9TE F5d 8¢ 0% 39 1 § MYTid 2 2 6 i Swel = ¥4
T 2

(D) IS SIET T HEY TS % a2 9 26 2, I o 925
7

Hra fom o faemedl W WeE SUIRE 9 S WA i
1) F= (A). (C) 5 (D)

(2) A (A). (B) #R (D)

(3) %= (B). (O) 3R (D)

4) % (C) ¥R (D)

[Question ID = 10683][Question Description = Q65_History_SHAAN_24NOV21_S1_5Shift1]
1. 1 [Option ID = 12729]

2. 2 [Option ID = 12730]

3. 3 [Option ID = 12731]

4. 4 [Option ID = 12732

Correct Answer ;-

& 1 [Opticn ID = 12729]

=) Match List I wath List IT
ListI List IT
(A) Mullai (D Andrerrain
(B) Pala (I} Riverine tract
(C) EKurinchi (III) Pastoral region
(D) Marutam (IV) Mountainous region

Choose the correct answer from the options given below :
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1 A-AD. (B)-(D. (C)-@V), (D)1
2  A)-0V), (B)-1D), (C)-@), M)-ID
3 AL, B)-@). (O«IV), (D)-(ID
@  (A)-dD, B)-aD. (C)-1V), (D)-(D
-1 % wv G-I =1 fram iR
-1
@ "
B) T
(©) e
(D) =%H

1= feu o fermeul 5 wEl 3O @ == it

ey
2)
(3
4

(A)-aD. B)-(D. (C)-av), (D)-I1h
(A)-IV). (B)-a1D). (C)-[M). (D)-(ID
(A)-(1D). B)-D). (C)-AV), M)-AD
(A)-(IID, B)-dD, (C)-AV), (D)-(D

1D
(TII)
(Iv)

i

=i-11

T A
A AT
T[T &

el &

[Question ID = 10684][Question Description = Q66_History_SHAAN_24NOV21_51_5Shift1]
1. 1 [Optien ID = 12733]
2. 2 [Optien ID = 12734]
3. 3 [Option ID = 12735]
4. 4 [Option ID = 12736]

Correct Answer -
e 1 [Option ID = 12733]

Match List I with List 11

List I
Yakshinis or Sasana devata
(4) Siddhayika
(B) Chakresvan
(C) Ambika
(D) Padmavati

@
an

List IT
Association with Tirthankaras
Adinatha

Neminatha

(IIT) Parsvanatha
(IV) Mahavira

Choose the correct answer from the options given below :

@D AQ-aAv). d@)-@, (O-an. -1
2  (A-AID. B)-AV). (O-@), )-AD
3  A-AD. (B)-IID. (O-O). D)-AV)
@  A-D. B)-AD. (O)-AV), (D)-dAID

TEft-1 % Ty g=i-10 =1 fram fiR

THl-1

aferof] =1 T I9an
(A) TagEem
(B) v

[a]

dFr ¥ T

[

(D sy
(I =Ty
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(C) A= (D) =way
(D) T V) mErER

4t fou T fommeat § W ST W = Fife

1 A-av. B)-O, (C)-aDn, (D)-J1I)
2  (A-AID, B)-AV), (C)-), (D)-(II)
(3  A-aD, (B)-D), (C)-@). (D)-(IV)
@  A-O. ®-0D. (O-GV). (D)-dID)

[Question ID = 10685%][Question Description = Q67 _History_SHAAN_24NOV21_51_5hift1]
1. 1 [Option ID = 12737]
2. 2 [Option ID = 12738]
3. 3 [Option ID = 12739]
4. 4 [Option ID = 12740]

Carrect Answer :-
s 1 [Option ID = 12737]

°%) Match List I with List IT
ListI List II
Authors Dharmasastras
(A) Bhatta Lakshmidhara () Chaturvargachintamani
(B) Devannabhatta (I) Smrityarthasara
(C) Hemadn (IIH EKryvakalpataru
(D) Sndhara (IV) Smriti-Chandrika

Choose the correct answer from the options given below :

D QD). B)-(II). (C)-AID), (D)-(1V)
2)  A)-dID. B)-AV), (O)-[D). (D)-(1I)
3  A-ID. B)-D,. (C)-AV), (D)-d1I)
4  (A)-dID. B)-dD), (C)-@), (D)-IV)

eI % @ ge 1L w1 forems Hifm -

-1 -1

S ICE THIE
@A) wg A M =ga fammf
(B) FEIUINE (I werER
(C) =mifg (A1) Feawoaas
(D) e (IV) wyta-=tz=
W= few o Tt W wE S A il

1 @-D. B-AD. (O-dI). (D)-AV)
2 AQ-dID. B)-av). (O)-@. O)-ID
3  AQ-AD, B-O. (O)-aV). D)-dID
@  A-dID. B-AD. (O)-@O). D)IV)
[Question ID = 10686][Question Description = Q68_History_SHAAN_24NOV21_51_5hift1]

1. 1 [Option ID = 12741]
| 2. 2 [Option ID = 12742]



www.prepp.in .repp

Your Personal Exams Guide

| 3. 3[Option ID = 12743]
4. 4 [Option ID = 12744]

Carrect Answer :-
& 1 [Option ID = 12741]

69)  Match List I with List IT

Tast I Last IT
(Books) (Contents)
(4) Nizami-1Anjum (I) Deals with current weights and
measures
(B) Tuhfat-ul Hind (I) Haindu astrology
(C) Dabistan-iMazahib (II)  Hindu prosody and rhetoric
(D) Risala-Migdariyah (IV) Different religions and seets of India

Choose the correct answer from the options given below :

(1  (A-AD. B)-AV). (CO)-(D). D)D)
@ @O, B)-AD. (O-II), (D)-IV)
3 (A-AD. (B)-ID. (CO)-AV). (D)-D)
@  @Q-av). B-0. (O-dD, (D)-1ID)

gH-1% @y Fei-11 =1 Hem $ifr

-1 Teil-11

(T&a) (Frea—awg)
(A Femfi-T s =m () dcwe a-de O Feied
(B) erg feg an fig whm ik
() efram-t wetza (1) fag Tewma ik IFTHR
(D) T (IV) 9rd + e o 31t geE
Fret Tow e Foredl H WA IR W BT :

1)  (A-ID. B)-IV). (C)-D). (D)D)
2y (@-D. B-AD. (O)-dID. (D)-aV)
(3  (A-ID. (B)-IID. (O)-IV). (D)-@
@ Q-IV). B)-D. (G)-(1I). (D)-1IL)

[Question ID = 10687][Question Description = Q69_History_SHAAN_24NOV21_S1_Shift1]
1. 1 [Option ID = 12745]
2. 2 [Option ID = 12746]
3. 3 [Option ID = 12747]
4, 4 [Option ID = 12748]

Correct Answer :-
a | [Option ID = 12745]

70) " Match List I with List IT
List I List IT
(Mughal Ruler) (Approximate Khalisa share in total
dJama)
(A) Akbar M 1/20t
(B) Jahangir I 1/5m

(C) Shahjahan (IIT)  1/4k
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(D) Aurangzeb (IV) 1/7™

Choose the correct answer from the options given below :

(1)  A-AID. B)-O. (O)-1V), (D)-dD)
2y  @-ID. B-AID. (O)-AV). (D)D)
3  @-AI). (B)-AV). (O)-1). D)-AD)
@  A-av). B)-db. (O)-an. )@

-1 % Ty -1 =1 e it
i1 qei-11
(Tt SITEeR) (7Fet ST o wETierdn =B AT )
(A) s @ 1/20
(B) wEriR a 15
(©) =mEsTEr ) 1/4
D) AT=E av) 17
Hr= few o et § ﬁ ST &1 T4+ il

O Q)-dm, B)-d), (©)-(IV), D)-1D)
@  A-d, (B)-ID. (O)-@V). M)-D
3 (A)-Im), B)-aV), (O)-10). M)-(1D
@  (A-aV). B)-D, (O)-D. O)-0

[Question ID = 10688][Question Description = Q70_History_SHAAN_24NOV21_51_5Shift1]
1, 1 [Option ID = 12749]
2. 2 [Option ID = 12750]
3. 3 [Option ID = 12751]
4. 4 [Option ID = 12752
Correct Answer :-

e 1 [Option ID = 12749]

71} Match List I with List II
Last T Tast IT
(Sikh Guru) (Sub-Caste)
(A) Guru Nanak ()  Bhalla
(B) Gure Amar Das (I) Bed1
(C) Guru Ram Das (ITIT) Trehan
(D) Guru Angad (IV) Sodhi
Choose the correct answer from the options given below :
(1)  A-AD. B)-dID). (O)-av). (D)-D
(2)  A-AID, B)-AV), (C)-A), (D)-AD
(3) (A)-IV), (B)-ID). (C)-AD. (D)-(D)
D (A)-1D. (B)-(D. (C)-AV), (D)-(1I)
1% @y eI = e i

Tfl-1 Tehi-II
o TE I9-F1d

[ S e ot
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Ly

A L e B
T

(B) Tk PR IE

(©) ™ TE

D) Tc @

Fra f2u e famed o TE) ST W 99 S

@)
2)
(3)
(4

(A)-1D), (B)-(III), (C)-AV). (D)-(I)
(A)-(1D), (B)-(IV). (C)-(D), (D)-(1)
(A)-IV), (B)-I1). (C)-(D), (D)-(D)
(A)-dD, (B)-@). (C)-(IV), (D)-(I1I)

il

38 8¢

[Question ID = 10689][Question Description = Q71_History_SHAAN_24NOV21_S1_Shift1]
1. 1 [Option ID = 12753]
2. 2 [Option ID = 12754]
3. 3 [Option ID = 12755]
4. 4 [Option ID = 12756]

Correct Answer ;-
e 1 [Option ID = 12753]

Iy  (A-dID. B)-@). (C)-aV), O)-ADn
(2  (A-dD. (B)-(IV). (O-dID), (D)-@)
3 @AV, (B)-dDh. (O)-D, D)-AID
@  (A-O, B-II). (C)-(ID), (D)-(IV)
-1 % w1 =11 = fiee it
-1
(wm)
(&) Feg gEar, Fargt Hewd
(B) 31 @ w1 gwad, Bl
(C) 3NE 979 I Thsl, STEETE
(D) sfammggEien &1 wwew, 3w
e fou o gt O wEr 39 # 9 i
(1) (A)-dID), B)-D). (C)-AV), (D)-AD)
2 (A)-dD. B)-(IV). (C)III), (D)-(D)
(3) (A)-AV). B)-AD. (O)-(D), (D)-dII)

(4)

Maitch List I with List 11

ListI

(Monument)

&)
(B
(©
D)

Buland Darwaza, Fatehpur Sikm
Atagha Khan's tomb, Delhi

Shah Begum'’s tomb, Allahabad
Itimad ud daula’s tomb. Agra

List II
(Calligrapher)
(D Bagqi Muhammad

(I) Abd al Nabi al Quraishi

(II) Ahmad al Chisthti

(IV) Mir Abdulla Mushkin Qalam

Choose the correct answer from the options given below :

‘(A)'{I)- (B)_(IH}* {C)_(II)* (D)_{IV)

T=ii-11
(geiaeht)
(D wwh qEg
(D) 318 @ Tt o7t P
(IID) 31ee e el
(V) it sregg qfvs wem
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. [Question ID = 10690][Question Description = Q72_History_SHAAN_Z24NOV21_51_5Shift1]
1. 1 [Option ID = 12757]
2. 2 [Option ID = 12758]
3, 3 [Option ID = 12759]
4, 4 [Option ID = 12760]

Correct Answer :-
a 1 [Option ID = 12757]

%) Match Last I with Tast IT
Tast I List IT
(Author) (Book)
(A) John William Kaye I India Old and New
(B) Mary Carpenter (I The Economic History of India under
Early British Rule
(C) Romesh Chandra Dutt (III) A History of the Sepoy War in India
(D) Valentine Chirol (IV) BSix months in India

Choose the correct answer from the options given below :

1) (A)-aID, B)-AV), (O-AD. D)-D
@)  (A)-aV), (B)-0D, (C)-1), M)-(1D
3 (A-aD, B-O, (C)-1AV), (D)-IID)
@ (-, ®)-OD, (O-@), O@)-aAV)

A1 = w1y gh-11 =1 firem <hifere
=i T g=i-11
(ea) (g
(A) o faferam =@ O EHmaATssT
B) &0 wRUR D) = wrFEs B e sfem st ot ffzm
o
(C) onm =g 2= (IID) of &= affw & fga am = s
(D) ders f= V) fiFm 99m = e
+ra fow v fempeat § @t S = == Hfifae

1)  A-aI), B)-av). (O-dn. O-@)

2y  (A)-av). (B)-dI). (C)-{@), O)-dD)

3  A-aADh, B-O. (O)-AV), O)-11D

@  A-aD., B)-dI), (O)-O0). D)-AV)
[Question ID = 10691][Question Description = Q73_History_SHAAN_24NOV21_51_5hift1]
1. 1 [Option ID = 12761]
2. 2 [Option ID = 12762]

3. 3 [Option ID = 12763]
4. 4 [Option ID = 12764]

Carrect Answer :-
& 1 [Option ID = 12761]

Match List I with List II

Last I Last II
(Author) (Books)

AN - = L o ] k| Fa o % 7 b | L T "
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Ly AT WY Ly LYLLLILLIEILIE KA iz YOELIMAG YA LALAILL — 1 LI J.ILUE,I.IIPILJ? AL @l
Song
(B) Catherine Arnold (I Masks of Conquest — Literary study
and British Rule in India
(C) Gauri Viswanathan (IIT) Pandemic — 1918
(D) Sabyasachi Bhattacharva (IV) The City in History

Choose the correct answer from the options given below :

(1) (A)-ID. (B)-(D, (C)-AV), (D)-{II)
(2) (A)-1AV). (B)-dID), (C)-dD. D)-(D)
3y A-AID, B-aV), (CO)-dD, (D)-D
@  A-dD, B)-dD), (O)-M. D)-IV)
-1 % Ay gefi-I1 = e i
-1 Hi-11
(vE=) (=)
(A) Sifed TaFE D) < A - § SEETH 3F 3 g9
(B) el TS (D) W HATE iz - Toedl wg ug falew
o T S
(C) Tl Rreamem (II) 92fr= - 1918
(D) Yeaare wErEH av) = & = e
19 Tou e fgFeat § g8 I uE S
(1) (A)-ID. (B)-(D). (O)-AV), (D)-(II)
(2) (A)-(IV), (B)-(I1I), (C)-{I). (D)-(T)
(3) (A)-(IIT). (B)-(IV), (C)-(D). (D)-(T)
(4) (A)-(II). (B)-(1ID). (O)-(I). (D)-(IV)
[Question ID = 10692][Question Description = Q74_History_SHAAN_24NOV21_S1_Shift1]

1. 1 [Option ID = 12765]
2. 2 [Option ID = 12766
3, 3 [Option ID = 12767]
4, 4 [Option ID = 12768]

Correct Answer :-
a 1 [Option ID = 12765]

75) Match List I with List IT

List I List IT
(Authors) (Books)
(A) Sanjay Joshi (I} Colomialism and Its Forms of
Knowledge
(B) Nicholas B. Dirks (I) Fractured Modermity — Making of a
Middle Class in Colonial North India
(C) Bernard S. Cohn (III) Castes of Mind — Colonialism and the
Making of Modern India
(D) Eric Hobshawm (IV) Fractured Times — Culture and Society

in the Twentieth Century

Choose the correct answer from the options given below :

(1)
(2)
(3)
4)

(A)-(I), (B)-(D). (C)-AV). (D)-A1I)
(A)-IV), (B)-IID),. (C)-(D). (D)~
(A)-(I1I). (B)-(IV). (C)-1). (D)(T)
(A)-(ID, (B)-(III). (C)-(D. (D)-AV)
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i1 Ty gEi-11 = fram i
-1 TEI-11
SteEd NEssE
(A) T S (I) TFitERSH U 328 BHE ATE 7o
(B) T < =54 (ID s a=fd - 4 ome o1 fisa Tom
F A 3
(C) =i o8 F (II) FRTH 3% HES - FHie-=iesd U8 g Af
HTF HSH Sfe
(D) Uiwh FreEsin IV) Fo=S 25 - Howr U FEEA T 3
Hr=r fou o faredt A wE 3 w0 = Fifsu
(1) (A)-(ID). (B)-(D. (C)-AV), (D)-AII)
(2 (A)-(IV), (B)-dIL). (C)-(M). (D)-AI)
(3)  (A-dID, B)-AV), (O)-AD, (D)-(D)
(€Y (A)-ID. (B)-(I1D. (C)-D. (D)-(IV)

[Question ID = 10693][Question Description = Q75_History_SHAAN_24NOV21_51_5Shift1]
1. 1 [Optien ID = 12769]
2. 2 [Optien ID = 12770]
3. 3 [Option ID = 12771]
4. 4 [Option ID = 12772]

Correct Answer -
e 1 [Option ID = 12769]

Arrange the following archaeological cultures of India in chronological order :

A)
B)

(©)
(0)

Kot Dij1 Culture
Jorwe culture
Malwa culture

Kayatha culture

Choose the correct answer from the options given below :

(1
@
(3
@

B)., D). (C), (W)
A4). (C). @). A
&), (B). D). (C)
&), (M), (C), (B)

g 6 Fefeafa qoafces gesf # vw0h Feme & sgen =Ei hifm -

(A)
(B)
©)

D)

ie &S wwpi

I fm  famedt 3 uf s o 999 Fifsw
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1 ®.D. O W
2 @A, 0, D)W
3 A B.D.©
@ @), D, O, B

[Question ID = 10694][Question Description = Q76_History_SHAAN_24NOV21_S1_Shift1]

1. 1 [Option ID = 12773]
2. 2 [Option ID = 12774
3. 3 [Option ID = 12775]
4. 4 [Option ID = 12776

prepp
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Correct Answer :-
e 1 [Opticn ID = 12773]

Arrange the following Gurjara pratihara kings in chronological order :

{A) Mahendrapala -1

(B) Mihirabhoja

(C) Nagabhatta - II

(D) Vatsaraja

Choose the correct answer from the options given below :

1 A 3. . O
2 (©€).&). D). (B)
3 B.0, 0. A
@b DOLEC)EB). A

frerforfo ToR-TdER Tenett B BEHA H SAates i

&)  TEmE-I

(B) Tz

(©)  AFrag-II

D) FoETE

4 fu T et § U8 SR H1 A i
(1) A), B). (C), (D)

2 (O, @A) D), B

(3) (B). (C). (D). A

4 D, ©), B, A

[Question ID = 10695%][Question Description = Q77_History_SHAAN_24NOV21_51_5hift1]

1. 1 [Option ID = 12777]
2. 2 [Option ID = 12778]
3. 3 [Option ID = 12779]
4. 4 [Option 1D = 12780]
Carrect Answer ;-

& 1 [Option ID = 12777]
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. 78)

FEEU h IAUR Y F WA U Wt o aecayyl i Rurae Feafaian ot @ semmgem

Arrange chronologically the following queens who played an important role in the
administration and culture of ancient Kashmir mentioned by Kalhana:

(&)
(B)
€)
D)

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

Didda
Radda
Sugandha

Suryamati

A). (B). (C). D)
®). V). D). (O
(C). (A), (D), (B)
D). (O, ), (B)

@ fam
B @
© g
D

fr= feu o frwedt 3 T s w1 == A

(1)
@
(3
4

[Question ID = 10696][Question Description = Q78_History_SHAAN_24NOV21_S1_Shift1]

(&), (B). (C), O
B). (4). D). (C)
(©). (A), D). (B)
(D). (C). (A), (B)

1. 1 [Option ID = 12781]
2. 2 [Option ID = 12782]
3. 3 [Option ID = 12783]
4. 4 [Option ID = 12784]

Correct Answer ;-
e 1 [Option ID = 12781]

79)

Arrange the sequence of following parts of Orissian temples starting from bottom to top :

(A) Baranda

(B) Beki
(C) EKhapun
(D) Pabhaga

Choose the correct answer from the options given below :

(1)
(2)

(4), B). (C), M)
(B). (A). (D). (O

prepp
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IZH4T % AR % FEAfafad qrT # AE U YAE 9K S 5w T 2Gg i

QA =

®

€ T

D) T

4= fou 7o fommeut 4 wEl 39w w1 = hifa
(1) A), (B), (C), D)

(2)  (B). Q). D). (©)

3) (. (B), A). (D)

4 D), (A). B), (C)

[Question ID = 10697][Question Description = Q79_History_SHAAN_24NOV21_51_5hift1]

3  (©.B).A). D
49 D), @A), B O

1. 1 [Option ID = 12785]
2. 2 [Option ID = 12786]
3. 3 [Option ID = 12787]
4. 4 [Option ID = 12788)

Carrect Answer :-
& 1 [Option ID = 12785]

TEe fom g & fefatem wm /aiEsret F e W

(A)

(B)

(©)

D)

Chronologically arrange Muhammad bin Tughlaq’s experiments/projects :

(A) Token currency

(B) Khorasan expedition

(C)  Transfer of capital

(D)  Qarachil expedition

Choose the correct answer from the options given below :

(1)
(2)
(3
D

(©). A). D). B
D). (&), (B). (O
(). (4), B). (D)
(A). (C), (D). (B)

TR T2

TEE AREE

T

T afEda

E v i e R e
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ﬁﬁqwﬁmﬁﬁwmwﬁﬁq:

1) (©).A.D),®
2 D). @A), B) O
@  (©.A). ®). D)
@ &), O, D, B

[Question ID = 10698][Question Description = Q80_History_SHAAN_24NOV21_51_5hift1]
1. 1 [Option ID = 12789]
2. 2 [Option ID = 12790]
3. 3 [Option ID = 12791]
4. 4 [Option ID = 12792]

Carrect Answer :-
* 1 [Option ID = 12789]

Arrange Akbar’s following victories in chronolohical order:

(A) Sind
(B) Khandesh
(C) Bengal

M) Kabul

Choose the correct answer from the options given below:

1 (©.O. A.O®
2 @A), ®B).©C). D)
3 ©.6).0.W
4  (B). D). O, A

T % Tieferian foamm stfimmT =t FemaIeaR @ -

(A) Ty
(C) =T
D) FE

T fou o frmed d oH) SR W 9 Hie

1) OO A.®
2 @A) ®). ). D)
3 (©.B).0).W
@ ®, D). . A

[Question ID = 10699][Question Description = Q81_History_SHAAN_24NOV21_51_5Shift1]
1. 1 [Option ID = 12793]
2. 2 [Option ID = 12794
3. 3 [Optien ID = 12795]
4. 4 [Option ID = 12796
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| Correct Answer :-
e 1 [Option ID = 12793]

Chronologically arrange various farmans / memorandums issued by Mughal emperors/nobles:

(A) Akbar’s farman to Ram Das
B Raja Todarmal's memorandum on revenue administration
(9 Farman to Muhammad Hashim

(D)  Farman to Rasikdas Karorm

Choose the correct answer from the options given below :

1) A D B). O
2 @®.0).A.O
3@ @W.EB OO
@ DO, B).W

i F

T wrETE] /S g ) e faftn e/ Rt w5t wesmmen @

(A)  3FHEC 1 TR Fl A B

(B) TS WEEA W U eree <hi ferith
(C) Tere T = S B

(D)  Uora TS W T B

3 fow o foepedt & Tt I T R Ao
(L) (A). D), B). (C)

2  (®.(©), @A), D)

(3) (A).®). D).

4 D). ©),B). A

[Question ID = 10700][Question Description = Q82_History_ SHAAN_24NOV21_S1_5Shift1]
1. 1 [Option ID = 12797]
2. 2 [Option ID = 12798]
3. 3 [Option ID = 12799]
4. 4 [Option ID = 12800]

Carrect Answer :-
& 1 [Option ID = 12797]

Chronologically arrange the following treaties starting from the earliest;

(A) The Treaty of Srirangpattanam
(B) The Treaty of Lahore
{C) The Treaty of Bassien (Vasai)

(D) The Treaty of Allahabad and Kara

Choose the correct answer from the options given below:

1 @. 0. D). B
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@  (C), D). (B), (4)
3 O.A.©0. 6
4 D). ©O.B). "

Freterliaa dftr =t sremraET @
(A)  Arorag <hi Gl
®) R H A

(©)  =ms H

(D) soEER W w6y

= fiw o et § wE s W 9 Hito

1 @&.©.0). O
@2 (©), D). B). &
(3 D). A) (). B

4) (D). (C). (B). (A)
[Question ID = 10701][Question Description = Q83_History_SHAAN_24NOV21_S1_Shift1]
1. 1 [Option ID = 12801]
2. 2 [Option ID = 12802]
3. 3 [Option ID = 12803]
4. 4 [Option ID = 12804]
Carrect Answer :-

e 1 [Option ID = 12801]

Arrange the following organizations chronologically from their date of establishment:

(A)  All India Trade Union Congress (AITUC)
B) Indian National Trade Umon Congress (INTUC)
(C) Independent Labour Party of India (Dr. Ambedkar)

(D) Hindustan Socialist Republican Assoclation

Choose the correct answer from the options given below :

@0 B, D), ©). &)
@ @ ©C).O. B
@  (O. D) &), B
4 A D). ©), B

Frafefiga geAl =t 39h ©YAT % 94 % AR PrenEd d W

(&) e 3 33 g FEE (AITUC)
®) I TEa g g weE (INTUC)
(C)  sfedse dsm uidl =1i% sfEan (1. smsgew)

- - - - e - .
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(1)) E?;'c-_t‘lﬁ M. TERCT=h-1 WETTHEE
i fou e famea § T I AT T H
1 ®). D)) A
(2) (A, (C). (D), (B)
3 (O, D), A).®
@  A.D.©).®

[Question ID = 10702][Question Description = Q84_History_SHAAN_24NOV21_S1_Shift1]

1
2
3.
4

Correct Answer :-

. 1 [Option ID = 12805
. 2 [Option ID = 12806

3 [Option ID = 12807]
. 4 [Option ID = 12808

& 1 [Option ID = 12805]

Arrange the following landmark legal cases chronologically starting from the earliest:

(A) Phulmony Case
(B) Vijalakshmi Case
(C) Maharaja Libel case

(D) Rukhmabai case

Choose the correct answer from the options given below:

1 @A. 0. D). ®
(2 (0. ®), D). A)
3 @O0, .3
@ @O.OB.0.A

ftefiaa dfaearfes @t amet =0 0@ 9 512 % Fews 4 W

(&)  Fom Fa

B) FeEae e

(C)  HEwE A= w5

(D) THHETRE HE

9 fou 7o e | @ IR T T HISC
(1) (A). (C). (D). (B)

(2) (C). (B). (D). (A)

3) (D), (O, (A), (B)

4) (D). (B), (C). A

[Question ID = 10703][Question Description = Q85_History SHAAN_24NOV21_S1_5Shift1]
1. 1 [Option ID = 12809]
2. 2 [Option ID = 12810

| 3. 3 [Option ID = 12811]
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| 4. 4 [Option ID = 12812]

Carrect Answer :-

e 1 [Option ID = 12809]

Given below are two statements :

Statement (I):  Hoes and sickles, small weapons and horse trappings of iron have been

found at megahithic sites.

Statement (IT) : Maski and Nagarjunakonda are megalithic sites.

In the light of the above statements, choose the most appropriate answer from the options

given below:

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I 1s true but Statement IT 1s false

(4) Statement I 1s false but Statement II is true

=1 g #uH feu u 2 .

w2 (D) : HES! 3T 2, B TE TS °iSi % ©iiE SUHol HEHTEe I % Tl o o 3

Fo[ (D) : Tl HR ARTIGRITS e I F T |

YU A % A, 19 8u v e § ¥ 9 3o = A Al

(1
(2)
(3)
(4)

Fe (D) 3R %o (ID) 791 &3 2
FI7 (I) 3R o= (1) SiH1 7907 2
2 (D) oea 7, <ifeT e (1) oot 3

F4 (1) 319 71, wifed »o (1) wea 2

[Question ID = 10704][Question Description = Q86_History_SHAAN_24NOV21_51_5Shift1]
1. 1 [Option ID = 12813]
2. 2 [Option ID = 12814
3. 3 [Optien ID = 12815]
4

. 4 [Option ID = 12816

Correct Answer :-

e 1 [Option ID = 12813]

Given below are two statements :

Statement (I) : When a soldier died showing exemplary valour while fighting for the king,
he was granted land for the livelihood of his dependents. called ‘Mrityukarvritty',

Statement (II) : A Chandella inscription records the grant of such a ‘Mrityukavrittl’.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement I are false

(3) Statement I is true but Statement IT is false

prepp
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(4) Statement I is false but Statement II 1s true

fagsmfiem? .

w1 (D) : T FIE Agl U % (0T8T Fd 50, Sh2 TOHH I 7Y, AOTd =1 TH BT o a9

Sues aAfal B SHifae % e g vem i it off, e ‘gogeata’ =k w1 sar o

(1D : o Hact forenerg W it £ ‘gegwaf & omEe # R 2

I FYA T ST, A e o et |1 § ud S o 9 i

(1)
2
(3)

@

FUA (T) 2R %27 (D) 91 &cF 2

o (I) 33 w9 (ID) g1 16 8

%o () T 2, it %3 (1) 315 2

9 (I) 319 2, 9ifed %2 (D) 9 2

[Question ID = 10705][Question Description = Q87_History_SHAAN_24NOV21_S1_5Shift1]

1
2
3.
4

Correct Answer :-

. 1 [Option ID = 12817
. 2 [Option ID = 12818]
3 [Option ID = 12819]
. 4 [Option ID = 12820

e 1 [Option ID = 12817]

Given below are two statements: One is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : Devaraya II strengthened the malitary base of the kingdom by improving
the quality of war horses and the training of horsemen and archers. He
established deeper political control over west-coast emporia, thus linking
military reform with international commerce.

Reasons (R) : Military and administrative dominance over the major ports on the

Arabian Sea provided Devaraya II with a new and different source of state
finance.

In the hight of the above statements, choose the most appropriate answer from the options
given below:

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2)  Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) 1s correct but (R) is not correct

(4) (A) 1s not correct but (R) 1s correct

Tl g 9 TqE U E : vF AT (Assertion (A)) % ® H faflgd 2 9 Z9U 39 F (Reasons (R))
FEUH

A (A) | T g 7 sofi arst 6 e § guR @ReR 9uT geuar 3R i i ufiem

2 I TWISE 5§ YR W A9eE | sw wieedt @2 % aiieas el W
FST Tsrifaeh a0 TATiie B, 39 TR 81 GUT i STatyia a1io=g = @Y =S|

F1 (R) : 3T TR % THE SSUE W §7 311 TE Tigdqed % 00 290 fgdim i T

% fog =1 U T o7 a3 =g e
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SHTh - S Hicllh, -id 16l Y Ebshed]l A H Y SYYh Sl <hl =434 <blEY,

1) (@A) ®R) I T E SR R), (&) F = = 2

@ (@) 3t ®) 2 g 2, S (R), (A) @ e 56 2
@  (@FAE IR T T

@ (T E 2, A R) wE 2

[Question ID = 10706][Question Description = Q88_History_SHAAN_24NOV21_51_5hift1]

1, 1 [Option ID = 12821]
2. 2 [Option ID = 12822]
3. 3 [Option ID = 12823]
4. 4 [Option ID = 12824]

Carrect Answer :-
& 1 [Option ID = 12821]

prepp
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Given below are two statements: One 1s labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) :

Reasons (R) :

The Supreme Council of the Governor-General in Calcutta gave

extraordinary powers to Special Commissios to capture and punish rebels
of the 1857 Revolt. 1n its Act XIV of June 1857,

The primary aim of Sir Syved Ahmed Khan's Causes of the Indian Revolt
(1858), then a government sub-Judge, was to show the loyalty of Muslims,
who in the years following the rebellion were viewed with suspicion and
disfavour.

In the light of the above statements, choose the most appropriate answer from the options

given below:

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)

(3) (A) 18 correct but (R) is not correct

(4) (A) 1s not correct but (R) 1s correct

9 71 oA Tou e 2w aluR (Assertion (A)) % w9 1 foriaa 2 A1 5w 39 FR® (Reasons (R))

%EE‘E[

AT (A) T 1857 % 310 T XIV H ol | TR SR Hl Hare aieg J &R 1@ =
1857 % fomitzat =1 T9sA o ofea F6 T STHTaR STUsR foan|

FI (R) FioS % 7 31599 faee (1858) § 30 @9 % W9-99 @ W U945 3EAC TR
TR SEvE gueEEl St (e fgan o, o fage # o % aat § 9dg ok At
4 @l =) Al

S HA % 37, 19 f6u 0 fawed 4 O qu Sugt st 1 9= A

(1)  (A) 3R (R) oF1 Tl 2 3R (R), (A) i 71 =7 2

(@) (A) 3R (R) TF Oex 2, 9 (R), (A) F1 T8 = 78 2
3 (AT E, @ R) T T R
@ (A) T8 7 2, 9 R) T 2

[Question ID = 10707][Question Description = Q89_History_SHAAN_24NOV21_51_5hift1]

1. 1 [Option ID = 12825]
2. 2 [Option ID = 12826]
3, 3 [Option ID = 12827]

4, 4 [Option ID = 12828]

Correct Answer :-
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| @ 1 [Option ID = 12825]

Given below are two statements: One 1s labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A):  When the All India Women's Conference began their campaign in support

of the Child Marmage Restraint Bill (1929), Sister Subbalakshmi gave

evidence before the Joshi Committee about the harmful effects of youthful
marriages

Reasons (R) : Mithuben Petit, a social worker who became leading trade unionist,
organized the Seva Mandir to work among the poor

In the light of the above statements, choose the most appropriaie answer from the options

given below:

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) 18 NOT the correct explanation of (A)
(3  (A)is true but (R) is false

(4) (A) 1s false but (R) 1s true

Fi9 o %= Tu e 2w sl (Asseﬂion(ﬂ)}ﬁ%mﬁ%%ﬁ%ﬁl@nm%m(Reasons(R})
e

AFFIA (A) e ST SIS HiHE wiey 4 =Ees At we oer (1929) % @ndA 4 e AhEm

g% T, ot Toee geamsft 3 St aigfs & ame seag 4 foae % 9@ + o
P R

FTT (R) : ot it frgi A0z ¥ e ¥ dr e wE w e dan AR g

) 3 W% J HEEe 98 e St o o |

SRR A o T, < 15U 70 fSmeai ¥ © a8 SUEw SR 1 99 Hi

1)
2
(3)

(4)

(A) 3R (R) 5F1 Ted 3 3R (R), (A) I 981 =913 2
(A) AR R) 7A1 wea &, st (R), (A) B w&t =aren 79 2
(A) 3 2, % (R) o700 2

(A) 30T 2, ©fT (R) Wed 2

[Question ID = 10708][Question Description = Q90_History_ SHAAN_24NOV21_S1_5Shift1]
. 1 [Option ID = 12829]
. 2 [Option ID = 12830
. 3 [Option ID = 12831]

1
2
3
4

Correct Answer :-

. 4 [Option ID = 12832]

& 1 [Option ID = 12829]

Topic:- History_Set1_sh1_B
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Read the following passage and answer the gquestion given below :

Ancient India has bequeathed to us a vast treasury of texts which represent the
intellectual and literary activities of more than two thousand years and cover a wide field.
The earhest literary work, the Samhita of the Rigveda, is at least three thousand years old
and may be even considerably older. A continuous stream of literature flowing since that
remote age, widening in course of centuries and embracing almost all fields of human
endeavour excepting political activity throws a light on the civilization of India such as we do
not meet with in cases of other ancient cultures. This mass of literature deal with philosophy
and religion, including ethics, ritual and ceremonial; cosmogony, cosmology, geography.

azarnnmT ﬂ“ﬂ ‘I'.hﬂ ﬂ.]]‘;ﬂ.ﬂ' Ql'“i.ﬂ‘ﬂl"ﬂﬁ!‘ ‘I’\ﬁ.l';f“il"!ﬁ1 !.'l'l"l.t'i ﬂl"‘ﬂ“ﬁm;l" ﬂnn‘hv;n.ne ﬂﬂl’q “I"ﬂﬂf;!‘ﬂﬂ.' ﬂ‘l"l.l"l ‘I'T‘I i
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minor way. with almost all branches of secular life. It includes, besides a mass of religious
texts. purely Literary works such as epies, lyrics, kavyas (poems), dramas and prose romances,
as well as biographies and folk tales. This literature is as bulky in volume as it is varied in 1ts
contents. Although 1t does not help us very much in reconstructing the political history of
ancient India, it throws a flood of light on an enables us to trace the various stages in the
development of culture and civilization 1n ancient India, such as 1s not possible in the case of

ancient Egypt, Western Asia and China and even Greece and Rome.

The seventh Mandala of the Rigveda is ascribed to the family of |

(1)
(3)

At (2) Bharadvaja

Vasishtha (4) Visvamitra

Fr=forftm e = 97 s o A R 2 oot & emed:

WA YR A B8 TSN Rl U TOuieT SR YGE T R, S 6 29K a9 | 4 wiew und § siigs w
witeferer wiafateat <o wfatfte w2 o o & sror = 31 aefiaay ot wag sz w0 @
79 dF TR T8 O 2 31 92 SE i Fh I 3 o) 21 YRa S Wi S W TR S
Tilecd 1 4T FIeawal & WY Taieedl o WareaF T, e Temias Saetd & STl el Gral Ferd
% weft gt = wnfaw ) O e g i o deta A R 7 & @it ¥ @ fo aoew
A ux ik g2, Hfifa s, Fiws v afts sgEm % wma-my glvwme, sans e, g, e e
AR foem, Teifos va ol fugra va saasr w1 g2 o wies e % awed & geitEa 3
7Y A 9 Il % ST WG ilsca® ORI % IR WY WEERed, e, HTed, e, T, 9Ra
T SR A HUM W 3| T8 Wil 394 T969 i 58 ¥ {900 qi-9Fd 2, 37 & st -
awg 1 3l § ugg it 3| TN T YRG T ToAlaE 3i0e® F [FEEM 4 YT UEEE T 2 e 9%
wetE wer o werta F fafay son % Frew F swmmm A ot 9§ sere sl 21 e T, ofvew
ufern, = it 75T o % i a1 A gt & seaEA 5y UY G SUesd A5 8

Jed whl Giadl JUSd (68 g (Yian) @ gsfid 27

(1) 3 (2) 4RgH

(3) afas (4) foranfim

[Question ID = 10709][Question Description = Q91_History_SHAAN_24NOV21_S1_Shift1]

1
2
3
4

. 1 [Option ID = 12833]
. 2 [Option ID = 12834]
. 3 [Option ID = 12835]
. 4 [Option ID = 12836

Carrect Answer :-
& 1 [Option ID = 12833]

Read the following passage and answer the guestion given below :

Ancient India has bequeathed to us a vast treasury of texts which represent the
intellectual and literary activities of more than two thousand yvears and cover a wide field.
The earhest literary work, the Samhita of the Rigveda, is at least three thousand vears old
and may be even considerably older. A continuous stream of literature flowing since that
remote age, wideming in course of centuries and embracing almost all fields of human
endeavour excepting political activity throws a light on the civilization of India such as we do
not meet with in eases of other ancient cultures. This mass of literature deal with philosophy
and religion, including ethics, ritual and ceremonial; cosmogony. cosmology, geography,
astronomy and the allied sciences; polifical and economic doctrines and practices; and 1in a
minor way, with almost all branches of secular life. It includes, besides a mass of rehgious

texta. nurelv hiterarv works snch as enies. Ivimes. kavvas fhoems). dramas and nrnse romances.
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as well as biographies and folk tales. This literature i1s as bulky 1n volume as it 1s varied in 1ts
contents. Although 1t does not help us very much in reconstructing the political history of
ancient India, it throws a flood of light on an enables us to trace the various stages in the
development of culture and aivilization 1n ancient India, such as is not possible in the case of

ancient Egypt, Western Asia and China and even Greece and Rome.

The Brahmanas are the texts which throw a flood of hight on Vedic rituals and ceremonies.
Which of the following pairs of the Brahmanas and Vedic Samhitas 1s NOT correctly

matched?

(1) Aitareya Brahmana — Rigveda Samhita
(2) Tandya Brahmana — Samaveda Samhita
(3) Kausitaki Brahmana — Yajurveda Sambhita

(4) Gopatha Brahmana — Atharvaveda Samhita

Fr=forfm e A w2 o o At i ™ woet % eme

WA YA A B8 TSN Rl U oSl ISR UM T 2, S 6 29K 991 ° ) e u6g § Siigs w
witeferr wiafataat < wfatftea w2 ot o & o = 31 afiaan oifee g sz w0 @
79 dF TR T8 QO 2 31 92 IE i Fh IEE 3 9] 21 YRGS W S W TR S
Titecd 1 4T FIeawa & WY Taieedl o WareaF T, e Temias et & STl THaid GraT Ferd
* ol gt = wnfam fn O e g i o desti A e = & @i F @ o aoew
4 ux ik g2, Hfifa s, Fiws v afts sgEm % wma-my glvems, sans e, g, e
AN TaaH, TeHiteh T it g sTeeR st wEg o wiith Sfiet % aaed & atEa ©|
7Y A 9 JAl % ST WG ilsica® ORI % 3R Y WEERed, e, FTed, e, T, 9Ra
T SR A FUM AT 3| T8 Wiecd 394 T969 i 58 ¥ 50 qi-9wFa 2, 30 & o9t faa-
g Fi gfE ¥ wug i 3| Taf 9% 9@ % Uete® 3foeE & EEEm 4 S TEEE T 2 e 78
ufern, i ok 75T o=k 6 ik va 19 F geEdetl % weEEe Bg U" ST Uy @t 8

dfem s ta IEEE W w19 e v e 8 Feffiga § 9w @ sem 9y v e atga

- 3 T gAfem 48 27

(1) vl sEw - Foag Al
(2) TS W@ - WHE giEa
(3)  Hifyash SR - FSEg Aiedl
(4) Ty S| - FREE TiEa

[Question ID = 10710][Question Description = Q92_History SHAAN_24NOV21_S1_5Shift1]
1. 1 [Option ID = 12837]
2. 2 [Option ID = 12838
3. 3 [Option ID = 12839]

4. 4 [Option ID = 1284

Correct Answer :-

e 1 [Option ID = 12837]

Read the following passage and answer the gquestion given bhelow :

Ancient India has bequeathed to us a vast treasury of texts which represent the
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Intellectual and literary activitles oI more than two thousand years and COver a wide neid.
The earhest literary work, the Samhita of the Rigveda, is at least three thousand years old
and may be even considerably older. A continuous stream of literature flowing since that
remote age, widening in course of centuries and embracing almost all fields of human
endeavour excepting political activity throws a light on the civilization of India such as we do
not meet with in cases of other ancient cultures. This mass of literature deal with philosophy
and religion, including ethics, ritual and ceremonial; cosmogony, cosmology, geography,
astronomy and the allied sciences; political and economic doctrines and practices; and 1n a
minor way. with almost all branches of secular life. It includes, besides a mass of religious
texts. purely literary works such as epics, lyries, kavyas (poems), dramas and prose romances.
as well as biographies and folk tales. This literature is as bulky in volume as if is varied in 1ts
contents. Although 1t does not help us very much in reconstructing the political history of
ancient India, it throws a flood of light on an enables us to trace the various stages in the

development of culture and civilization 1n ancient India, such as 1s not possible in the case of

ancient Egypt, Western Asia and China and even Greece and Rome.

The most popular themes of ancient Indian dramas are based on the Ramayana,
Mahabharata. courtly love and folk tales. Which of the following dramas. considered fo be
written by Bhasa, has taken its plot from the Ramayana?

(1) Abhisheka

(2) Avimaraka

(3) Balacharita

{4) Pancharatra

Fr=ferfm e | w2 s o A R ™ oot & emed:

T 9Ra 3 26 T W % e 9SR R e R, Wi @ eR aw 8 f ofdw v @ Aiies w
gifefers nlafataat = sttt wa £ o Ges 87 e s 2| aeilsas oita sag sfea &9 @
1 A TR a9 WA B YT T2 a8 i N O B ] 31 Id W e O WA g e
ifges #1410 FEaEar & Ty Iaieaal 9 YaaaH T, (99 USHias Siaa o rerat TEdE B e
* oofi &t i gtae e wd fafa e B om oot 1 g 78 @t wiser % 2o fawre e
4 o 3R oEF, i O, TS @ I EH % WY-wY Y, FEs 0w, P, s |
AT T, ToFifos UF ST [Hgra Ua oaasr 1uiq 98" § wiieE Si=1 % ans &% FATEd 2|
394 oG i TF % ST Y Wi WOl % T S TEFRed, i, Fed, e, T, 1Ra
7= 3R @i Hun Gftifea 31 78 wifeer sia @y i gfe o e aili-wera 2, san § st fas-
g # zfe ° wg A 21 walt 7z wwg & vefew sloem % qAHEm § sfos weew 36 2 e 9
ARe i wer 3R weRld % fatag won % o o serm A gle o s smarEd 31 wefe o, ofvam
ufern, = T 7@ ok 5 e wE T A gt & S1eaEA vy UY GaTe ey As 2

TR YA el shi AP T gEga; THT, EURG, S-S ST Sk FOeT W eTdTia 2
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(1)  fiE=

(2 A
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[Question ID = 10711][Question Description = Q93_History_SHAAN_24NOV21_51_5Shift1]

N R PU R 8 s

1 [Option ID = 12841]
2 [Option ID = 12842]
3 [Option ID = 12843]
4 [Option ID = 12844]
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Correct Answer ;-
e 1 [Option ID = 12841]

Read the following passage and answer the gquestion given below :

Ancient India has bequeathed to us a vast treasury of texts which represent the
intellectual and literary activities of more than two thousand years and cover a wide field.
The earhest literary work, the Samhita of the Rigveda, is at least three thousand years old
and may be even considerably older. A continuous stream of literature flowing since that
remote age, widening in course of centuries and embracing almost all fields of human
endeavour excepting political activity throws a light on the civilization of India such as we do
not meet with in cases of other ancient cultures. This mass of literature deal with philosophy
and religion, including ethics, ritual and ceremonial; cosmogony, cosmology, geography.
astronomy and the allied sciences; political and economic doctrines and practices; and in a
minor way. with almost all branches of secular life. It includes, besides a mass of religious
texts. purely Literary works such as epics, lyrics, kavyvas (poems), dramas and prose romances,
as well as biographies and folk tales. This literature is as bulky in volume as if is varied in 1ts
contents. Although 1t does not help us very much in reconstructing the political history of
ancient India, it throws a flood of light on an enables us to trace the various stages in the
development of culture and civilization 1n ancient India, such as 1s not possible in the case of

ancient Egypt, Western Asia and China and even Greece and Rome.

The Indian Philosoper Vedanta Desika wrote a Sandesa Kavya (a form of lyric poem).
named :

(1)
(2)
(3)
(4)

Meghaduta
Pavanaduta
Hamsa-Sandesa

Siladuta

Fr=ferfm e | w2 s o At i w2 oot & s
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[Question ID = 10712][Question Description = Q94_History_SHAAN_Z24NOV21_51_5hift1]

| 1. 1 [Option ID = 12845]
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| 2. 2 [Option ID = 12844]
3. 3 [Option ID = 12847]
4. 4 [Option ID = 12848]
Correct Answer :-

e 1 [Opticn ID = 12845]

Read the following passage and answer the gquestion given below :

Ancient India has bequeathed to us a vast treasury of texts which represent the
intellectual and literary activities of more than two thousand yvears and cover a wide field.
The earhest literary work, the Samhita of the Rigveda, is at least three thousand vears old
and may be even considerably older. A continuous stream of literature flowing since that
remote age, wideming in course of centuries and embracing almost all fields of human
endeavour excepting political activity throws a light on the civilization of India such as we do
not meet with in cases of other ancient cultures. This mass of literature deal with philosophy
and religion, including ethics, ritual and ceremonial; cosmogony. cosmology, geography,
astronomy and the allied sciences; political and economic doctrines and practices; and 1in a
minor way, with almost all branches of secular life. It includes, besides a mass of rehgious
texts, purely literary works such as epics, lyrics, kavyas (poems), dramas and prose romances,
as well as biographies and folk tales. This literature i1s as bulky 1n volume as it 1s varied in 1ts
contents. Although 1t does not help us very much in reconstructing the political history of
ancient India, it throws a flood of light on an enables us to trace the various stages in the
development of culture and civilization 1in ancient India, such as is not possible in the case of
ancient Egypt, Western Asia and China and even Greece and Rome.

Which of the following historical works are authored by Bilhana?

(A) Vikramankadeva — Charnta
(B) Bhuvanabhyudaya
(C) Kavi-—rahasya

(D) Karnasundari

Choose the correct answer from the options given below :

() (A and (B) only
(2) (B) and (C) only
(3 (A) and (C) only

(4) (A) and (D) only
Frerfortaom e =t w2 ot = S 75 2w e

Wi 9Ed A B TR R wn foener qsR weE TR R, W S gar an) o off st 9w § sifgw
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79 dF TR T8 QO 2 31 92 IE i Fh I 3 d) 21 YRa S W S W R S
Tiecd 1 4T FIewal & WY Taieedl o TaTeaF l, e TeHias et & 37Tl Haid GRal Ferd
* ot et W wtae B O [ gRen B o wekEl § fRumd T o wiee ¥ 39 e sen
4 o 3 <7, Hifq s, wews o oifds sEEE % we-wy glome, gas e, g, gies
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[Question ID = 10713][Question Description = Q95_History_SHAAN_24NOV21_51_5Shift1]
1. 1 [Optien ID = 12849]
2. 2 [Optien ID = 12850]
3. 3 [Optien ID = 12851]
4. 4 [Option ID = 12852]

Correct Answer ;-
e 1 [Option ID = 12849]
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1)

Read the following passage and answer the guestions given below

The Indian National Congress, being a movement and not just a party, included within its
fold, individuals and groups which subscribed to widely divergent political and ideological
perspectives. It was the mainstream organization but not the only stream. Obviously, the
non-Congress movements were never seen as parallel streams, as some have maintained.
Though they were outside the Congress, most of them were not really separate from it and at
no stage they became alternatives to the Congress. The only ones which may be said to have
formed of an alternative stream of politics were the communal and casteist movements which
were not national or anti-imperialist. Several Satyagraha campaigns — apart from
innumerable mass agitational campaigns — were waged between 1919 and 1942. The
movement in its various forms and phases took modern politics to the people. It did not
appeal to their pre-modern consciousness based on religion. caste and locality or loyalty to the
traditional rulers. Though in some cases caste structure was used in villages to enforce
discipline in a movement whose motivation and demands had nothing to do with caste. The
social and religious reform movements which developed during the 19t century as part of the
defence against colomialization of Indian culture merged with the national movement. As a
mass movement, while the Indian national movement was able to tap the diverse energies.
talents and capacities of a large varieties of people to fight against the British rule, emphasis
was also laid on the constructive programme.

Which kind of individuals were not associated with the Indian national movement?

(1
2

4

Imperialists
Moderates

'
MAammunniote
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[Question ID = 10714][Question Description = Q96_History_SHAAN_24NOV21_S1_5Shift1]
1. 1 [Option ID = 12853]
2. 2 [Option ID = 12854
3. 3 [Option ID = 12855]
4. 4 [Option ID = 12856]

Carrect Answer :-
& 1 [Option ID = 12853]

Read the following passage and answer the gquestions given below

The Indian National Congress, being a movement and not just a party, included within its
fold, individuals and groups which subscribed to widely divergent political and i1deological
perspectives. It was the mainstream organization but not the only stream. Obviously, the
non-Congress movements were never seen as parallel streams, as some have maintained.
Though they were outside the Congress, most of them were not really separate from it and at
no stage they became alternatives to the Congress. The only ones which may be said to have
formed of an alternative stream of politics were the communal and casteist movements which
were not national or anti-imperialist. Several Satyagraha campaigns — apart from
innumerable mass agitational campaigns — were waged between 1919 and 1942. The
movement in its various forms and phases took modern politics to the people. It did not
appeal to their pre-modern consciousness based on religion. caste and locality or loyalty to the
traditional rulers. Though in some cases caste structure was used in villages to enforce
discipline in a movement whose motivation and demands had nothing to do with caste. The
social and religious reform movements which developed during the 19t century as part of the
defence against colomialization of Indian culture merged with the national movement. As a
mass movement, while the Indian national movement was able to tap the diverse energies.
talents and capacities of a large varieties of people to fight against the British rule. emphasis
was also laid on the constructive programme.

Which one of the following was a non-Congress movement?
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(1) Extremists

(2)  All India Trade Union Congress
(3) All India Depressed Classes Mission Society of India
(4) Kisan Sabhas

et s =t o% i 2o T e R TR R
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[Question ID = 10715][Question Description = Q97_History_SHAAN_24NOV21_S1_5Shift1]
. 1 [Option ID = 12857]
. 2 [Option ID = 12858]
. 3 [Option ID = 12859
. 4 [Option ID = 12860]

1
2
3
4

Carrect Answer :-
& 1 [Option ID = 12857]

Read the following passage and answer the guestions given below

The Indian National Congress, being a movement and not just a party, included within its
fold, individuals and groups which subscribed to widely divergent political and ideological
perspectives. It was the mainstream organization but not the only stream. Obviously, the
non-Congress movements were never seen as parallel streams, as some have maintained.
Though they were outside the Congress, most of them were not really separate from it and at
no stage they became alternatives to the Congress. The only ones which may be said to have
formed of an alternative stream of politics were the communal and casteist movements which
were not national or anti-imperialist. Several Satyagraha campaigns — apart from
innumerable mass agitational campaigns — were waged between 1919 and 1942. The
movement in its various forms and phases took modern politics to the people. It did not
appeal to their pre-modern consciousness based on religion. caste and locality or loyalty to the
traditional rulers. Though in some cases caste structure was used in villages to enforce

dizcinline 1n a movement whase motivation and demands had nnthineg ta do with easte. The
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social and religious reform movements which developed during the 19t century as part of the
defence against colomalization of Indian culture merged with the national movement. As a
mass movement, while the Indian national movement was able to tap the diverse energies.
talents and capacities of a large varieties of people to fight against the British rule, emphasis

was also laid on the constructive programme.

Which among the following were parallel but not alternative streams of agitation?

(A) The Ghadar movement

(B)  The Civil Disobedience movement
(C) The Indian National Army

(D)  The Royal Indian Navy Revolt

Choose the correct answer from the options given below:

D (A) and (B) only
(2) (A, (O). and (D) only
(3)  (B) and (D) only

(4) (B), (C) and (D) only
et uTe =1 we R 20 T T 6 T m B
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4 34 (B), (C) 3k (D)

[Question ID = 10716][Question Description = Q98_History_SHAAN_24NOV21_51_5hift1]
1. 1 [Option ID = 12861]
2. 2 [Option ID = 12862]
3. 3 [Option ID = 12863]
4. 4 [Option ID = 12864)

Carrect Answer :-
& 1 [Option ID = 12861]

Read the following passage and answer the guestions given below

The Indian National Congress, being a movement and not just a party. included within its
fold, individuals and groups which subscrbed to widely divergent political and ideological
perspectives. It was the mainstream organization but not the only stream. Obwviously, the
non-Congress movements were never seen as parallel streams, as some have maintained.
Though they were outside the Congress, most of them were not really separate from it and at
no stage they became alternatives to the Congress. The only ones which may be said to have
formed of an alternative stream of politics were the communal and casteist movements which
were not national or anti-imperialist. Several Satyagraha campalgns — apart from
innumerable mass agitational campalgns — were waged between 1919 and 1942. The
movement 1n Its various forms and phases took modern politics to the people. It did not
appeal to their pre-modern consciousness based on religion. caste and locality or loyalty to the
traditional rulers. Though in some cases caste structure was used in wvillages to enforce
discipline In a movement whose motivation and demands had nothing to do with caste. The
social and religious reform movements which developed during the 19t century as part of the
defence against colonialization of Indian culture merged with the national movement. As a
mass movement, while the Indian national movement was able to tap the diverse energies.
talents and capacities of a large varieties of people to fight against the British rule, emphasis
was also laid on the constructive programime.

In which year women participated in the proceedings of the Indian National Congress?

(1) 1885 (2) 1889
(3) 1898 (4 1926
et uTe =1 w2 iR 20 T T 6 T m B
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[Question ID = 10717][Question Description = Q99_History_SHAAN_24NOV21_S1_Shift1]
1. 1 [Option ID = 12865]
2. 2 [Option ID = 12866]
3. 3 [Option ID = 12867]
4. 4 [Option ID = 12868]

Correct Answer -

e 1 [Option ID = 12865]

3)

Read the following passage and answer the questions given below

The Indian National Congress, being a movement and not just a party, included within its
fold, individuals and groups which subscribed to widely divergent political and ideological
perspectives. It was the mainstream organization but not the only stream. Obviously, the
non-Congress movements were never seen as parallel streams, as some have maintained.
Though they were outside the Congress, most of them were not really separate from it and at
no stage they became alternatives to the Congress. The only ones which may be said to have
formed of an alternative stream of politics were the communal and casteist movements which
were not national or anti-imperialist. Several Satyagraha campaigns — apart from
innumerable mass agitational campaigns — were waged between 1919 and 1942. The
movement in its various forms and phases took modern politics to the people. It did not
appeal to their pre-modern consciousness based on religion. caste and locality or loyalty to the
traditional rulers. Though in some cases caste structure was used in villages to enforce
discipline in a movement whose motivation and demands had nothing to do with caste. The
social and religious reform movements which developed during the 19t century as part of the
defence against colomialization of Indian culture merged with the national movement. As a
mass movement, while the Indian national movement was able to tap the diverse energies.
talents and capacities of a large varieties of people to fight against the British rule, emphasis
was also laid on the constructive programme.

Which one of the following Satyagraha movements was not a part of the Indian National

Congress programme?

(D) Rowlatt Satyagraha
(2) Non-Cooperation movement
(3) Mahad Sweet Tank Satyagraha
(4) The Quit India Movement
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